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The following Table - | shows the percentage distribution of overseas tourist traffic from India to different Countries and Table-ll shows
the percentage distribution of overseas tourist traffic from India according to their age during the year 2022. Based on the data in the
tables, answer the questions that follow.

Table - | Country-wise Distribution of Indian Overseas Tourists

Country
Japan U3A UK QOthers
30% 40% 10% 0%

Table - Il Age-wise Distribution of Indian Overseas Tourists

Age group

<Dyears | [30-40)years [A050) Years | 250 years
15% 15% 0% 0%

Whera [L-M) yaars means age is = Lyaars and < M years

Sub questions

Question Number : 1 Question Id : 22742714247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
If the tourist traffic from India to USA is 165000 more than that of UK then what is the difference between the Indian overseas tounist traffic in the

age group of [40-50) years and [30-40) years?

1.72500
2.21500
3.93000
4.42000

Options :

22742755501. 1
22742755502. 2
22742755503. 3
22742755504. 4



Question Number : 2 Question Id : 22742714248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The ratio of the number of Indian tourists who went to USA to the number of Indian tourists who went abroad and were below 40 years of age, is
1H

283

338

443

Options:

22742755505. 1

22742755506. 2

22742755507. 3

22742755508. 4

Question Number : 3 Question Id : 22742714249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

amongst ather countries, Switzerland accounted for 25% of the Indian tourist traffic and a total of 25 lakh Indian tourists had gone to
Switzerland during the year, then the number of [30-40) years old Indian tourists who went abroad in that year is

1.18.75 lakh

2 25 lakh

375 lakh

4 50 lakh

Options:
227427555009. 1
22742755510. 2
22742755511.3

22742755512. 4



Question Number : 4 Question Id : 22742714250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Ifthe total number of Indian tourists who went abroad to countries other than Japan, USA and UK was 3 lakhs in 2022, then what was the
volume of Indian tourists to USAin that year?

1.10lakhs

2.6 lakns

3.6 lakns

412 lakhs

Options :
22742755513. 1
22742755514, 2
22742755515.3

22742755516. 4

Question Number : 5 Question Id : 22742714251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Consider that the total number of Indian tourists who went to Japan in 2022 was 24000. fA s the number of Indian tourists who went o UK and
Bis the number of Indian overseas tourists who were =50 years old then (A, B) =

2000, 25000)
6000, 30000)
7000, 35000)

(
(
(
(6000, 40000)

1.
2
3
4
Options :

22742755517. 1
22742755518. 2
22742755519. 3

22742755520. 4



Question Id : 22742714246 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension

Fte e  a anza & e & fafem 3 oo e e e v e fn v e e 2002 % v o
TR QT8 e 5 A e o e 1 ot o e e 3 o R o 0 e e

e R & g ) el 1 ¢ e e

o]

W% 0% 10% 20%

R M § 80 e e el a1 - e

T
g [a040) 50y 50

15% 15% 20% 0%
EEEE R L

Sub questions

Question Number : 1 Question Id : 22742714247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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442000

Options:



22742755501. 1
22742755502. 2
22742755503. 3

22742755504. 4

Question Number : 2 Question Id : 22742714248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742755505. 1

22742755506. 2

22742755507. 3

22742755508. 4

Question Number : 3 Question Id : 22742714249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742755509. 1



22742755510. 2
22742755511. 3

22742755512. 4

Question Number : 4 Question Id : 22742714250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742755513. 1
22742755514. 2

22742755515. 3

22742755516. 4

Question Number : 5 Question Id : 22742714251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742755517.1



22742755518. 2
22742755519. 3

22742755520. 4

Sub-Section Number : 2
Sub-Section Id : 227427560
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 22742714252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ateacher’s belief that he or she can reach even the most difficult students and help them leam is called

1. Teacher's knowledge

2. Teacher’s understanding
3. Teacher’s sense of efficacy
4 Teacher's seli-perception

Options :

22742755521. 1
22742755522, 2
22742755523. 3

22742755524. 4

Question Number : 6 Question Id : 22742714252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742755521. 1
22742755522, 2
22742755523, 3

22742755524. 4

Question Number : 7 Question Id : 22742714253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |: Flip (ICT tool) allows users to record and share short video responses

Statement II: Flip (ICT tool) is primarily used for video discussions and presentations.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both statement | and Statement |l are correct

2. Both statement | and Statement || are incorrect
J. statement | is correct but statement Il is incorrect
4 statement | incorrect but statement Il is correct

Options :

22742755525. 1
22742755526. 2
22742755527. 3

22742755528. 4

Question Number : 7 Question Id : 22742714253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742755525. 1
22742755526. 2
22742755527.3
22742755528. 4

Question Number : 8 Question Id : 22742714254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |- In Jigsaw, each student in a group Is expected to specialize in one aspect of learning task.
Statement Il The major focus of the group investigation strategy is on the development of inquiry skills.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both statement | and Statement |l are correct

2. Both statement | and Statement |l are incorrect
3. statement | is correct but statement Il is incorrect
4 statement | incorrect but statement Il is correct

Options:
22742755529. 1
22742755530. 2

22742755531. 3



22742755532. 4

Question Number : 8 Question Id : 22742714254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742755529. 1
22742755530. 2
22742755531. 3

22742755532. 4

Question Number : 9 Question Id : 22742714255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement |: Implicit memory refers to intentional or conscious recollection of information.

Statement [1; Explicit memory refers to memories people are not consciousy aware of. but that can affect their subsequent performance and
behaviour

In ight of the ahove statements, choose the most approprate answer from the options given below

1. Both statement | and Statement |l are correct

2 Both statement | and Statement Il are incorrect
3. statement | is correct but statement Il is incorrect
4 statement | incomect but statement Il is correct

Options :

22742755533, 1
22742755534. 2
22742755535. 3
22742755536. 4

Question Number : 9 Question Id : 22742714255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742755533. 1

22742755534. 2



22742755535. 3

22742755536. 4

Question Number : 10 Question Id : 22742714256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Schuman'’s model 1s an example of which type of teaching model?

- Personal Basis Model

. Behaviour Altering Model
_Information Development Model
_ Social Interaction Model

[

=

Options:

22742755537. 1
22742755538. 2
22742755539. 3

22742755540. 4

Question Number : 10 Question Id : 22742714256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742755537. 1
22742755538. 2
22742755539. 3
22742755540. 4



Question Number : 11 Question Id : 22742714257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

The purpose of theory Is o generate hypotheses that can be tested and that will thereby allow explanation of laws to be assessed. The above
statement refers to the principle of

1. Objectivism

2. Constructionism

3. Inductivism

4 Deductivism
Options:
22742755541. 1
22742755542. 2
22742755543. 3

22742755544. 4

Question Number : 11 Question Id : 22742714257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742755541. 1
22742755542, 2
22742755543. 3

22742755544. 4



Question Number : 12 Question Id : 22742714258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The degree to which the measure of a concept truly reflects that concept, refers to

1. Ecological fallacy

2. Measurement validity
3. Ecological validity

4 External validity
Options:
22742755545, 1
22742755546. 2
22742755547. 3

22742755548. 4

Question Number : 12 Question Id : 22742714258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742755545. 1
22742755546. 2
22742755547. 3

22742755548. 4

Question Number : 13 Question Id : 22742714259 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Correlation coefficients (r) along with their respective p-values are given. Identify the two most significant correlation coefficients from the
following:

A =077 p=0.25

B.r=061,p=0.01

C.r=0 41, p=0.59

D.1=0.37,p=003

Choose the correct answer from the options given below:

1. Aand B only
2. Aand C only
3. Band D only
4 Cand D only

Options :

22742755549. 1
22742755550. 2
22742755551. 3

22742755552. 4

Question Number : 13 Question Id : 22742714259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742755549, 1
22742755550. 2
22742755551 3

22742755552. 4

Question Number : 14 Question Id : 22742714260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following test statistics is useful for conducting Analysis of Variance?

1. F
2.1
3. Chi square
4 7

Options:

22742755553. 1
22742755554, 2
22742755555. 3

22742755556. 4



Question Number : 14 Question Id : 22742714260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742755553. 1
22742755554. 2
22742755555. 3

22742755556. 4

Question Number : 15 Question Id : 22742714261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According fo UGC regulations 2018 for Prevention of Plagiarism, which among the following similarities would constitute Level 3 plagiarism?
A 38%

B.45%

C. 4%

D.63%

EN%

Choose the correct answer from the options given below:

1. Aand B only
2.8, Cand D only
3.Dand E only

4. Eonly

Options :

22742755557. 1
22742755558. 2
22742755559. 3

22742755560. 4

Question Number : 15 Question Id : 22742714261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742755557. 1
22742755558, 2
227427555509, 3

22742755560. 4

Question Number : 16 Question Id : 22742714262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The content and the outcome of an interaction together constitute

. Physical order
. Secret order

. Political order
. Textual order

L

F =N

Options:

22742755561. 1
22742755562. 2
22742755563. 3

22742755564. 4



Question Number : 16 Question Id : 22742714262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742755561. 1
22742755562. 2
22742755563. 3

22742755564. 4

Question Number : 17 Question Id : 22742714263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

From the communication viewpoint, Adi Shankara's philosophical concept provides primacy to

Personal ego
Materialistic desires
- Self-consciousness
- Social conflicts

[ N

S

Options :

22742755565. 1
22742755566. 2
22742755567. 3

22742755568. 4

Question Number : 17 Question Id : 22742714263 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742755565. 1
22742755566. 2
22742755567. 3

22742755568. 4

Question Number : 18 Question Id : 22742714264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are the two basic psychological functions of intra-personal communication?
A_Internalisation of culturally organised ways of thinking

B. Promotion of leader centric speech

C. Regulation of one’s own mental activity

D. Orientation towards enhancing social disorders

Choose the correct answer from the options given below:

1. Aand B only
2 Aand C only
3. B and C only
4 Cand D only

Options:

22742755569. 1



22742755570. 2
22742755571. 3
22742755572. 4

Question Number : 18 Question Id : 22742714264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742755569. 1
22742755570. 2
22742755571. 3

22742755572. 4

Question Number : 19 Question Id : 22742714265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement |- In mass communication, ihe message is rapid and public

Statement [I: New technology has blurred the distinction between inter-personal communication and mass communication
Choose the correct answer from the options given below:

1. Both statement | and Statement Il are correct

2. Both statement | and Statement [ are incorrect
3. statement | is correct but statement Il is incorrect
4 statement | incorrect but statement Il is correct

Options :

22742755573. 1
22742755574. 2
22742755575. 3
22742755576. 4

Question Number : 19 Question Id : 22742714265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742755573. 1

22742755574. 2



22742755575. 3
22742755576. 4

Question Number : 20 Question Id : 22742714266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

List -1 List -1l

(Communication model) |(Description)

A Linear |. Communication as interaction

B. Circular II. Communication as transaction

C. Mon - Linear 1. Model of Communication models
D. Meta V. Communication as action

1. A-ILB-IlLC-Ill,D-IV

2ZA-IILB-IILC-IV D-
JA-IILB-V,C-1,D-I

I

A-IV,B-I,C-1l.D-1l

Options :

22742755577. 1
22742755578. 2
22742755579. 3
22742755580. 4

Question Number : 20 Question Id : 22742714266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



! - &1 g - gHfad Pt

It -l It -l

(FEm JisT) @ui)

A TEHT |. VT, ST [ohdT & &9 |
B. 9@ Il S, TH-g & BH H

C. TRy I11. TS0 "igal @ "Aisd

D. aff¥ (#Fem) IV, EIY0 & % w0 §

d feu e famedl | ¥ wgl SR g :

1.A-1,B-1I,C-lll, D-IV
2 A-1ILB-ILC-IV,D-I
3A-IILB-V,C—-1.D-I
4 A-IVB-1,C—II,D-1I
Options :

22742755577. 1
22742755578. 2
22742755579. 3

22742755580. 4

Question Number : 21 Question Id : 22742714267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

It takes 10 men to finish a work In 2 days. Four (4) men started to execute the work but after one (1) day. 3 of them left, How many days it will
take the lone man to finish the remaining work?

Options :

22742755581. 1
22742755582. 2
22742755583. 3

22742755584. 4



Question Number : 21 Question Id : 22742714267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T &7 e A T 5 10 Rt 14 W 5 e ol 6 0 o 0 79 93 916 0 ) WO A
T 0 X9 7 1 T G A et Fd i 2

Options:

22742755581. 1
22742755582. 2
22742755583. 3

22742755584. 4

Question Number : 22 Question Id : 22742714268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding scheme

‘India is a growing economic power in world' is writen as ‘ba, fa, ga, si, na, wa, ta, mo’
‘Population of India is growing' is written as ’ja, ka, ba, si, ga’

‘Culture of India is soft power’ is written as ‘sa, ka, si, ba, la, wa’

What are the codes for ‘power’ and “of ?

1. wa, ka
2.wa, ba
3. ka, ba
4 wa, si

Options :



22742755585. 1
22742755586. 2
22742755587. 3
22742755588. 4

Question Number : 22 Question Id : 22742714268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
CAGPREStER
Ry Are em e ufdd e @l o1 GBI M @ 1 I a1 AT & TUH GEr S g,

‘YR & T9E IHAF & &1 1 &1 & O M@ U H e aar g,

YR S GPpid Jg o o' DI F1, D198, & &0 H @1 <ar g,
Widq 9 Br AL F P g 2

1.9 ®I
2.9 d
3. @I dl
4 91 i

Options :

22742755585. 1
22742755586. 2
22742755587 3
22742755588. 4

Question Number : 23 Question Id : 22742714269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find the missing term in the following letter series

AMZ, BLY, CNX, DKW, EOV, ............7?

L =
M
=

o
2]
A
ey

Options :

22742755589. 1
22742755590. 2
22742755591. 3

22742755592. 4

Question Number : 23 Question Id : 22742714269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
9 21&R @ H Il Ug &1 Gl TRy ;

AMZ, BLY, CNX, DKW, EOV, ............7?

R
M
=

e
T
A
ey

Options:

22742755589. 1
22742755590. 2
22742755591. 3
22742755592. 4

Question Number : 24 Question Id : 22742714270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

Time taken by & motor boat moving downstraam in a river to cover a distance and time taken by the motor boat to cover the same distance
upstream are in the ratio of 3. If speed of stream i 10 km/hr what is the speed of boat?

1.20 km/hr

225 kmihr

330 kmihr

4 40kmihr

Options :
22742755593 1
22742755594, 2
22742755595. 3

22742755596. 4

Question Number : 24 Question Id : 22742714270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

% TR 101 1 0 ST o % U G 0 e 9 4 ST e o o 0 5 ) 1 0 35 6 o & 81 G ¢
B 106 A et o o i ol 2

1. 20f6 ¥
2 25 fH g
3 0fad g
4 40fH ) da
Options :
22742755593, 1
22742755594, 2
22742755595, 3

22742755596. 4

Question Number : 25 Question Id : 22742714271 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
A Person sells an item at a discount of 40% and still makes a profit of 20%. By what parcentage was the marked price of the item more than the

cost price of the item?

1.50%

2.100%

3.150%

4 120%.

Options :
22742755597. 1
22742755598. 2
22742755599. 3

22742755600. 4

Question Number : 25 Question Id : 22742714271 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T idkt U %] 1 40% 6 R Fopt e 20% T ol et 31 g TR ffhd 5 S e Hcd  fe Wi offid 412

1.50%

2.100%

3.150%

4.120%

Options :
22742755597. 1
22742755598. 2
22742755599. 3

22742755600. 4

Question Number : 26 Question Id : 22742714272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I): Afallacy is a defect in an argument that consists of something other than merely false premises
Statement (1) fan argument is unsound or uncogent, it has one or more false premises, or it contains a fallacy or both
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (I) and Statement () are true.
2 Both Statement (1) and Statement (I1) are false.
3. Statement (1) is true but Statement () is false.
4 Statement (1) is false but Statement (11) is true.

Options :

22742755601. 1
22742755602 2
22742755603. 3

22742755604. 4

Question Number : 26 Question Id : 22742714272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Riafimg

0% . 0 0 o 3T 1 o R o RT3 30 ST g g

O I O s s 1 oS 8, 8 U 1 O ST SR Bl 1 b QN et & 11 9 G e gl
H
SR e o e F LT e & e S R 1 e i

1. 3% | 4R | 3 T 2

@ | 4R I 3H w2l

3. 00K | 0 5 o e | 3D 2
4. O | 0 § o & 1| 0 21
Options:
22742755601. 1

22742755602. 2



22742755603. 3

22742755604. 4

Question Number : 27 Question Id : 22742714273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is arranged in order of decreasing connotation?

1. Instrument, musical instrument, string instrument, violin
2. Violin, musical instrument, string instrument, instrument
3. Violin, string instrument, musical instrument, instrument
4 Instrument, string instrument, musical instrument, violin
Options:

22742755605. 1

22742755606. 2

22742755607. 3

22742755608. 4

Question Number : 27 Question Id : 22742714273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
T # & 3 7o & ved §Y o A orafua § 2

1. 47, Tfld areda, ot aredd, oo
3. dafeH, ddl aregd. S@iid 9ed, 93
4. TF, I dreds, T aredE, i

Options :

22742755605. 1
22742755606. 2
22742755607. 3
22742755608. 4



Question Number : 28 Question Id : 22742714274 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) A valid deductive argument cannot have all true premises and a false conclusion
Statement (Il): The concept of truth cannot be applied to arguments

In light of the above statements, choose the most appropriate answer from the options given below.

- Both Statement (1) and Statement (1) are true.
- Both Statement (1) and Statement (Il) are false.
_ Statement (1) I1s true but Statement (1) is false.
~Statement (1) Is false but Statement (I1) is true.

o fa —

o

Options:

227427556009. 1
22742755610. 2
22742755611. 3
22742755612. 4

Question Number : 28 Question Id : 22742714274 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ey

&Y | Tt ay FemTers gidd & 9l snuRar 9 ud fshy 3w T8l 81 ¥dd 8l

&Y |I: O &1 Yhed gidad W H0gad ol &l obdl ¢l

SR &Y & e § Hid {80 70 @l § 1 9ad Iugdd IR &1 99 Bifo

1. B4 | R 11 EHI 9 B

2. @Y | AR || &H 9 B

3. ®Y | d © fohd HYH 1l Ud B
4 HYF | A [ HY 1| T B
Options :

227427556009. 1

22742755610. 2
22742755611. 3

22742755612. 4

Question Number : 29 Question Id : 22742714275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

“[fyou love hot cakes and you love ice creams, then you will surely love hot cake ice cream”. Which fallacy is commitied in the above argument?

1. Fallacy of composition
2. Slippery slope

3. Fallacy of division

4 Hasty generalization

Options:

22742755613. 1
22742755614. 2
22742755615. 3

22742755616. 4

Question Number : 29 Question Id : 22742714275 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"Uf ST T 6 A ST G &, 0! R U 3 5 S G e ST S 9 W e R g
1. el am
). e I

1 [TR
4 HaIRd G

Options :

22742755613. 1
22742755614. 2
22742755615. 3

22742755616. 4

Question Number : 30 Question Id : 22742714276 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Nyaya syllogism has three propositions and five terms

Statement (I1): Aristotelian syllogism has three propositions and three terms

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (1) are true.
2 Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (I1) is true.

Options :

22742755617. 1
22742755618. 2
22742755619. 3

22742755620. 4



Question Number : 30 Question Id : 22742714276 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
R PRy

DY |- UG =g H i+ Ufdaieral 3R uid ug gid |

B || SREaTS] e § Ji- ufagiaar iR §i7 ug 8id &

o

ifad Aol & ¥ 98 ST

SWdd YAl & Heid | g

1. HYF SR GH Gd gl

2 TYF | 3R 1| GHf T &

3. &Y | 9 ¢ fhd DU 1 A B
4 TYF | 3T & fhg A 1 9T @
Options:

22742755617. 1

22742755618. 2

22742755619. 3

22742755620. 4

Question Number : 31 Question Id : 22742714277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the base — 10 number 100. In base — 6, it would be represented as

Options :
22742755621. 1
22742755622. 2



22742755623. 3

22742755624. 4

Question Number : 31 Question Id : 22742714277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
YR (99) - 10 P U= 100 ST R -6 H g8 A9 T 1 feog ¥4 § yefid gift 2

Options:

22742755621. 1
22742755622. 2
22742755623.3

22742755624. 4

Question Number : 32 Question Id : 22742714278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Wiki is usually in some form of chronological order and postings tend to be short in length
Statement (I1): Amobile phone (cell phone) primarily uses flash memory

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are frue.
2. Both Statement (1) and Statement (Il) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (Il) is true.

Options :



22742755625. 1
22742755626. 2
22742755627. 3

22742755628. 4

Question Number : 32 Question Id : 22742714278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o ey

&Y | R ¥ 4 fao! fodl yeR & Srarm e ¥ 1 gidl 8 R Ui awars § 81 gidl 8

Y |I: HiEIZd B (Sd BF) Teid: Hi¥ 3R &1 §ai oidl g |

e O

IuUH B & el § Ffaiad fdodl § ¥ gl SW 3

1
3

1. Y| IR 11 TH T B

2 ®YF | AR I gHI 9d 5

3. B | 9 ¢ foog YA |1 30T B
4. B | 3T & g Y || TA B |
Options :

22742755625. 1
22742755626 2
22742755627. 3

22742755628. 4

Question Number : 33 Question Id : 22742714279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement (I): RFID is the use of fingerprint scans, retina scans, face identification, etc as & way of indentifying & person uniquely.

Statement (1l): The website using the streaming method to deliver video means that the video can be played while it is being downloaded and
acccordingly less time is requried before users can view the video

1. Both Statement (1) and Statement (1) are true
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (1) is true.

Options :

22742755629. 1
22742755630. 2
22742755631. 3

22742755632. 4

Question Number : 33 Question Id : 22742714279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T3 o R

2 | ot 1 TR0y 0 8 G 0 o 0 70 & U o 10 S, 0 65, 1 U, T 1 T R 06 9 1

00 I T o T oo e (R o i e 1 o] & o 1 T3 St o o X1, 30 et o el & o
GO AR e 1 ¢ W § O A 0 T o

T T 3 A e el A 9 R o g

1.3 |91 3H T

) B 4R 11 EH T

3 | TS TH 3 || 9 2
4 T | S 8 For 72 1| 0 2
Options:
22742755629. 1

22742755630. 2



22742755631. 3
22742755632. 4

Question Number : 34 Question Id : 22742714280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are frue?

1. One of the main advantages of ROM is that the information stored on the ROM chip is not lost even when the power to the computer is tumed
off

2. ASClIis an acronym for American Standard Code for Intelligent Information

3. Compared to desktop computers, laptop computers are portable since all its components are together in one single unit

1. Aand B only

2. Aand C only

3. Band G only

4 ABandC
Options:
22742755633. 1
22742755634, 2
22742755635. 3

22742755636. 4

Question Number : 34 Question Id : 22742714280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Eue R R e R

A 3R ¥ T 31 T T8 T4 T2 & 10 o 30l 00 ot R iR a1, g 1 o o s 3 o G o @ e e g
B UTHH! o5 &% e g8 HIE B gecluc BNANA @1 §3W T g

C. eI B! 1 e A Uy HU TRl BId & i 390 940 90 06 T 9 41 @R A el ¢

id RO 0 fomedl # Y W TR

1 FIAAIRB
2 BIAAINC
3 B30B IR C
4ABIRC

Options :

22742755633. 1
22742755634. 2
22742755635. 3
22742755636. 4

Question Number : 35 Question Id : 22742714281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

List | (Usge) List Il (Appropriate Input Device)
A. To select options from a list |. Keyboard
B. To type data into a database Il. OMR

C.To input candidate's MCQ answer marked in pre-determined positions|lll. Chip Reader

D.To input data directly from a bank card V. Mouse

1LA-ILB-IILC-1,D-IV
2A-ILB-1,C-1,D-IV
JA-IVB-I,C-IlLD-1I
4 A-IV,B-Il.C-1,D-1I
Options :
22742755637. 1
22742755638. 2

22742755639. 3



22742755640. 4

Question Number : 35 Question Id : 22742714281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gt | &l Gl 11 ¥ gHfed Pife :

T - ST qﬁ; L
A T get § fgsedl & 999 8  E e

B. STeTed H SIET €50 &g 1. 3T T AR

c. [@ Fuifa saffeal § spaff g o m dt ey .

IR & R g . e dse

D. 91 3% &18 § Sl FHaeH &g N

I leu e fasedl o O UE 3R g

1.A-1I,B-Il,C-I, D-IV
2 A-1I,B-1,C-1l, D-IV
3A-IV,B-1,C-Il, D-1l
4 A-IV,B-Il,C-I, D-1
Options :

22742755637. 1
22742755638. 2
22742755639. 3

22742755640. 4

Question Number : 36 Question Id : 22742714282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which one of the following Conference of Parties (COP) Kyoto protocol was adopted?

1. COP -1
2.COP-3
3.COP-7
4 COP-10



Options :

22742755641. 1
22742755642, 2
22742755643. 3

22742755644. 4

Question Number : 36 Question Id : 22742714282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
I Uieidid @ HafcRad H ¥ fog o6 b ureie (3 3 i) 8§ SFiaR fagr 7/ 412

1.4 3t - 1
2 Wafdi-3
3 Wad-7
4 T afdi-10

Options :

22742755641. 1
22742755642. 2
22742755643. 3

22742755644. 4

Question Number : 37 Question Id : 22742714283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

If a water body is healthy and supports no significant biological activity, then its condition is called as

1. Hypotrophic
2. Mesotrophic
3. Eutrophic

4. Oligotrophic

Options :



22742755645. 1
22742755646. 2
22742755647. 3

22742755648. 4

Question Number : 37 Question Id : 22742714283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e, Bl o P WG & R 399 Bl HeaqUl oiad a1 Tal ol U 5, dl 39 Rufd &1 341 @el oI 62
2. 9 g}

4 Togurui]

Options :

22742755645. 1

22742755646. 2

22742755647. 3

22742755648. 4

Question Number : 38 Question Id : 22742714284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



To qualify as hazardous waste, a waste must have the following characteristics:
A Ignitability

B. Corrosivity

C. Reactivity

D. Toxicity

E. Radioactivity

Choose the correct answer from the options given below:

1. A, CandD only
2.C,DandE only
3.A B, CandE only
4 AB C DandE

Options :

22742755649. 1
22742755650. 2
22742755651. 3
22742755652. 4

Question Number : 38 Question Id : 22742714284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



G S(URY $e S & e feedt srufdiy # 7 fagiwan gt =mfee -
A SaTiadr

B. H&Radl

C. SifHigaritean

D. fauraan

E fsarafeaan

I feu U fapedf § © el SR T -

1. BadA C3RD
2 ®add C, D3RE
3. ®dd A B, C3RE
4 A B C D3RE

Options :

22742755649. 1
22742755650. 2
22742755651. 3

22742755652. 4

Question Number : 39 Question Id : 22742714285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Acid rain occurs within, and downwind of areas of major industrial emissions of sulfurdioxide and oxides of nitrogen.
Statement (I1): Long range transport of airborne pollutants can be responsible for acid rain in areas far off from industrial imissions.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement (1) are true
2. Both Statement (1) and Statement (1) are false.
3. Statement (1) I frue but Statement (1) Is false.
4 Statement (1) Is false but Statement (1) is true.

Options:



22742755653. 1
22742755654. 2
22742755655. 3

22742755656. 4

Question Number : 39 Question Id : 22742714285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Hiwrakum?

G |- ] 791 T SRS R AIZeloH & HIeTEgy oo G arel WG A & o iR 4 3 o 9gid o W i
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1. T | 3R 11 S S )

2 Y| 3R 1| ST 9 g

3. O | T & fiq O || O ¢
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Options :

22742755653. 1

22742755654, 2

22742755655. 3

22742755656. 4

Question Number : 40 Question Id : 22742714286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘Life below water’ pertains to which of the SDGs?
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Options :

22742755657. 1
22742755658. 2
22742755659. 3

22742755660. 4

Question Number : 40 Question Id : 22742714286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742755657. 1
22742755658. 2
22742755659. 3
22742755660. 4

Question Number : 41 Question Id : 22742714287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Ujjain, in ancient India, was famous for the study of

1. Veterinary science
2. Chinese philosophy
3. Astronomy

4. Community work
Options :
22742755661. 1
22742755662. 2
22742755663. 3

22742755664. 4

Question Number : 41 Question Id : 22742714287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742755661. 1
22742755662. 2
22742755663. 3

22742755664. 4

Question Number : 42 Question Id : 22742714288 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The National Knowledge Commission recommended ‘needs-blind admissions’ for

_ National universities

_ State universities

_ Private universities

. Foreign universities operating in India
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o

Options :

22742755665. 1
22742755666. 2
22742755667. 3

22742755668. 4

Question Number : 42 Question Id : 22742714288 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742755665. 1
22742755666. 2
22742755667. 3

22742755668. 4
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Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Education/Despatch of 1554 suggested professional training in
A Library science

B. Law

C. Medicine

D. Civil Engineering

E. Material science

Choose the correct answer from the options given below:

1. A, B and C only
2. B, CandD only
3. C,Dand E only
4 A B andE only

Options :

22742755669. 1
22742755670. 2
22742755671. 3
22742755672. 4

Question Number : 43 Question Id : 22742714289 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427556609. 1
22742755670. 2
22742755671. 3

22742755672. 4

Question Number : 44 Question Id : 22742714290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A policy frame work developed by the UGC in 1978 suggested

A Closure of private universities.

B .Increase in the number of universities.

C.Support for high quality experimental research.
D.Discontinuation of autonomous colleges.

E Introduction of inter-disciplinary courses at under graduate level.
Choose the correct answer from the options given below:

1. A, B and C only
2. B, CandD only
3. C,Dand E only
4 B, CandE only

Options :

22742755673. 1
22742755674. 2
22742755675. 3
22742755676. 4

Question Number : 44 Question Id : 22742714290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742755673. 1
22742755674, 2
22742755675. 3

22742755676. 4

Question Number : 45 Question Id : 22742714291 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(iven below are two statements:

Statement (I): According to the National Education Policy 2020, teaching duties wil be more, and student-teacher ratio will be high, and facutty
will be generally transferable across institutions in the country.

Statement (11): According to the NEP. 2020, faculty will be given the iiberty to design heir pedagogical approaches for innovative teaching and
research

In ight of the ahove statements, choose the most approprate answer from the options given below

1. Both Statement (1) and Statement (1) are true
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (1) s frue

Options :

22742755677. 1
22742755678. 2
22742755679. 3

22742755680. 4

Question Number : 45 Question Id : 22742714291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742755677. 1



22742755678. 2
22742755679. 3

22742755680. 4

Sub-Section Number : 3
Sub-Section Id : 227427561
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 22742714292 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the below passage and answer the following questions

Climate change and its imperatives across the globe have moved beyond the immediate compulsions of rising mercury levels on planet Earth It
is today a debate among nations on geo-politics and the shift in economic balance from the developed countries to the emerging economies. The
rhetoric by global leaders thus needs to be taken with a pinch of salt for it s not all about climate change concerns. The changing axis of
economic power to the East and emerging countries of Asia will perhaps take & while to sink In. Developing economies like India are just
beginning to take baby steps on the global stage and industry and entrepreneurship will have fo go & long way. Millions of households in India
still have to depend on firewood and kerosene to light up their homes even as scores of Indians die every year for want of basic health amenities.
The priority for suich & nation is meeting basic needs, providing food. health and education rather than spending large portions of its GDP on
importing technologies to cut emissions. India nesds to do ts bit, but on its own terms and at its own pace.

Sub questions

Question Number : 46 Question Id : 22742714293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The main focus of the passage in on

1. Climate change and its impact

2. Climate change and geopolitics

3. Climate change and developmental imperatives
4. Climate change and mitigation strategies

Options :

22742755681. 1
22742755682. 2
22742755683. 3
22742755684. 4

Question Number : 47 Question Id : 22742714294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What are the problems faced by developing economies like India?

A They are extremely poor

B. Many people in India lack basic health amenities

C.They are extremely rich

D .Millions of people still depend on firewood and kerosene to light up their homes
Choose the correct answer from the options given below:

1. A, Band D only
2. B and D only
3. B, Cand D only
4 Aand D only

Options :

22742755685. 1
22742755686. 2
22742755687. 3
22742755688. 4



Question Number : 48 Question Id : 22742714295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What should India first and foremost focus on?

. Developing indigenous technologies to cut emissions
. Importing technologies to cut emissions

. Provide food, health and education to its people

. spend large sums of money to cut down emissions

L
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Options :

22742755689. 1
22742755690. 2
22742755691. 3

22742755692. 4

Question Number : 49 Question Id : 22742714296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following facts related to climate change are true?

A The global leaders are indifferent to the issue of climate change

B.The climate change talks are sometimes directed towards political and economic gain rather than climate change
C.Itis about the shift in economic balance from the developed economies to the emerging economies

D Developing economies like India can afford to spend large sums of money to cut emissions

Choose the correct answer from the options given below:

1.Band C only
2.A BandConly
3.B,Cand D only
4 Aand D only

Options :

22742755693. 1



22742755694. 2
22742755695. 3

22742755696. 4

Question Number : 50 Question Id : 22742714297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) India should take measures to cut down emissions but not at the cost of development.
Statement (I1): India should ban the use of firewood and kerosene and opt for cleaner fuels.

In light of the above statements, choose the most appropriate answer from the options given below

. Both Statement (1) and Statement (1) are true

- Both Statement (1) and Statement (1) are false.
- Statement (1) Is true but Statement (1) is false.
- Statement (1) is false but Statement (1) is true

[ L

e

Options :

22742755697. 1
22742755698. 2
22742755699. 3

22742755700. 4

Question Id : 22742714292 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)
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Options :

22742755681. 1
22742755682 2
22742755683. 3

22742755684. 4
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Minimum Instruction Time : 0
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Options :

22742755685. 1
22742755686. 2
22742755687. 3

22742755688. 4

Question Number : 48 Question Id : 22742714295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742755689. 1
22742755690. 2
22742755691. 3
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Options:
22742755693. 1
22742755694 2
22742755695. 3

22742755696. 4
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22742755697. 1
22742755698. 2
22742755699. 3

22742755700. 4
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Question Number : 51 Question Id : 22742714298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not true about Public Choice approoch?

1. It came into existence is the 1950s

2. It advocates the institutional pluralism

3. It criticises bureaucratic administration

4 It rejects politics- administration dichotomy
Options:

22742755701. 1

22742755702. 2

22742755703. 3

22742755704. 4
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Options :

22742755701. 1
22742755702. 2
22742755703. 3

22742755704. 4



Question Number : 52 Question Id : 22742714299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In Leadership Grid model of Robort Blake and Jana Mouton the Leadership Style that focuses soley on production with a disregard for the needs
of the workers is called as

1. The Middle of Road

2. Country club

3. Impoverished

4 Produce or Perish
Options :
22742755705. 1
22742755706. 2
22742755707. 3

22742755708. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Question Number : 53 Question Id : 22742714300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not an advantage of Centralization?

1. A clear Chain of command

2. Focused vision

3. Delay in work

4. Quick implementation of Decision
Options :

22742755709. 1

22742755710. 2

22742755711.3

22742755712. 4
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227427557009. 1
22742755710. 2
22742755711. 3

22742755712. 4
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Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Alexander H. Leighton gave the concept of which of the following?

1. Span of Control

2. Knowledge worker
3. Morale

4 Delegation
Options :
22742755713. 1
22742755714. 2
22742755715. 3

22742755716. 4
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22742755713. 1
22742755714. 2
22742755715. 3

22742755716. 4
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The administrative principle ‘Promotion of Team Spirit and Unity’ of Henri Fayol is known as

1. Gangplank

2. Unity of Direction
3. Order

4. Esprit de Corps

Options :

22742755717. 1
22742755718. 2
22742755719. 3

22742755720. 4
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22742755717. 1
22742755718. 2
22742755719. 3

22742755720. 4
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Which one of the following pairs is not correct?

. Vohra Committee — Criminalization of Polities

. 5oli Soralijee Committee — Police Reform

- Dinesh Goswami Commitiee — Electoral Reform
. Gadgil Committee — Panchayat Raj Reform

[

o

Options :

22742755721. 1
22742755722. 2
22742755723. 3

22742755724. 4
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22742755721. 1
22742755722. 2
22742755723.3
22742755724. 4
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Which one of the following subjects was not transferred from State List to Concurrent List by 42" Amendment Act, 19767

1. Higher Education

2. Forests

3. Weights and Measures
4 Police

Options :
22742755725. 1
22742755726. 2
22742755727. 3

22742755728. 4
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22742755725. 1
22742755726. 2
22742755727. 3

22742755728. 4
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Joint Sitting of Parliament was convened to pass which one of the following Legislative Acts?

1. Muslim Women (Protection of Rights on Marriage) Act 2019
2. Prevention of Terrorism Act, 2002

3. Fugitive Economic Offenders Act 2019

4. Information Technology Act, 2000

Options :

22742755729. 1
22742755730. 2
22742755731.3
22742755732. 4
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Options:

22742755729. 1
22742755730. 2
22742755731.3

22742755732. 4
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Who advocated ‘Constitutional morality as the basis of Governance'?

1. Sardar Patel

2. B. R. Ambedkar

3. Rajendra Prasad

4. Acharya J. B. Kripalini
Options :
22742755733. 1
22742755734. 2
22742755735. 3

22742755736. 4

Question Number : 59 Question Id : 22742714306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742755733. 1
22742755734. 2
22742755735.3

22742755736. 4

Question Number : 60 Question Id : 22742714307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



NIPUN Bharat Mission is functioning under which one of the following Ministry?

1. Ministry of Micro, Small and Medium Enterpriser (MSME)
2. Ministry of Education

3. Ministry of Rural Development

4. Ministry of Skill Development and Entrepreneurship

Options :

22742755737. 1
22742755738. 2
22742755739. 3

22742755740. 4

Question Number : 60 Question Id : 22742714307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742755737. 1
22742755738. 2
22742755739.3

22742755740. 4

Question Number : 61 Question Id : 22742714308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In which condition, Parliament can make law on Subject the State list under the Provision of article 2497

1. Presidential Rule

2. National Emergency

3. National Interest

4. Giving effect to International agreements
Options :

22742755741. 1

22742755742. 2

22742755743. 3

22742755744. 4

Question Number : 61 Question Id : 22742714308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742755741. 1
22742755742. 2
22742755743.3

22742755744. 4

Question Number : 62 Question Id : 22742714309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Comptroller and Auditor General of India submits its Report to which one of the following?

1. Public Accounts Committee
2. Prime Minister's Office

3. Lok Sabha

4. President of India

Options :

22742755745. 1
22742755746. 2
22742755747. 3

22742755748. 4

Question Number : 62 Question Id : 22742714309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742755745. 1
22742755746. 2
22742755747. 3
22742755748. 4

Question Number : 63 Question Id : 22742714310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which one of the following is the ‘Raisond’etre’ of Mission Karmayogi?

1. From Rules-based to Roles-based Human Resource Management System
2. Assignment of right person for the right role at the right time

3. Lifelong learning for civil servants

4. Promote exchange of Knowledge

Options :

22742755749. 1
22742755750. 2
22742755751. 3
22742755752. 4

Question Number : 63 Question Id : 22742714310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742755749. 1
22742755750. 2
22742755751.3

22742755752. 4

Question Number : 64 Question Id : 22742714311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



AMRUT 2.0 emphasized on making cites:

. Drugs free

- Water Security
- Slum free

- Traffic comfort

[ s

o

Options :

22742755753. 1
22742755754. 2
22742755755. 3

22742755756. 4

Question Number : 64 Question Id : 22742714311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742755753. 1
22742755754, 2
22742755755. 3

22742755756. 4

Question Number : 65 Question Id : 22742714312 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



According to Article 243 of Indian constitution what type of institution is constituted in transitional area?

1. Municipality

2. Nagar panchayat

3. Municipal Council

4. Municipal corporation
Options :
22742755757. 1
22742755758. 2
22742755759. 3

22742755760. 4

Question Number : 65 Question Id : 22742714312 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742755757. 1
22742755758. 2
22742755759. 3

22742755760. 4

Question Number : 66 Question Id : 22742714313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What is correct about the functions and Powers of the Gram Sabha?

1. It is decided by legislature of the state

2. Constitution is silent about it

3. Functions and Powers are well defined in the Constitution of India
4. 1t is dependent on the Head of Gram Panchayat

Options :

22742755761. 1
22742755762. 2
22742755763. 3
22742755764. 4

Question Number : 66 Question Id : 22742714313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742755761. 1

22742755762. 2

22742755763. 3

22742755764. 4

Question Number : 67 Question Id : 22742714314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Panchayat term of five years starts from-

1. The date of its first meeting
2. The date elections are held
3. The date results are declared
4 Constitution is silent about it

Options :

22742755765. 1
22742755766. 2
22742755767. 3

22742755768. 4

Question Number : 67 Question Id : 22742714314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742755765. 1
22742755766. 2
22742755767.3

22742755768. 4

Question Number : 68 Question Id : 22742714315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Part X of the Constitution of India is not applicable to which group of the States?

1. Nagaland, Arunachal Pradesh and Manipur

2. Meghalaya, Arunachal Pradesh and Nagaland
3. Nagaland, Meghalaya and Mizoram

4. Mizoram, Nagaland and Tripura

Options :

22742755769. 1
22742755770. 2
22742755771.3

22742755772. 4

Question Number : 68 Question Id : 22742714315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742755769. 1
22742755770. 2
22742755771.3
22742755772. 4

Question Number : 69 Question Id : 22742714316 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



‘Mo war' clause has been provided in which one of the constitution?

1. USA

2. Japan

3. UK

4 India
Options :
22742755773. 1
22742755774. 2
22742755775. 3

22742755776. 4

Question Number : 69 Question Id : 22742714316 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742755773. 1
22742755774. 2
22742755775.3

22742755776. 4

Question Number : 70 Question Id : 22742714317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who said Development is a state of mind, a tendency, a direction.”?

1. EW._Riggs

2. Joseph La Palombaria
3. Edward W. Weidner
4 U. L. Goswami
Options :
22742755777. 1
22742755778. 2
22742755779. 3

22742755780. 4

Question Number : 70 Question Id : 22742714317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742755777. 1
22742755778. 2
22742755779.3

22742755780. 4

Question Number : 71 Question Id : 22742714318 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which one of the following is the final Court of Appeal in U. K for Civil cases and for criminal cases from England. Wales and North Ireland ?

1. Appellate Committee of House of Lords
2. Supreme Courtof UK.

3. Judicial Committeg of privy council

4. Supreme court of Scotland
Options :
22742755781. 1
22742755782. 2
22742755783. 3

22742755784. 4

Question Number : 71 Question Id : 22742714318 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742755781. 1
22742755782. 2
22742755783. 3

22742755784. 4

Question Number : 72 Question Id : 22742714319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which one of the following is not correctly matched?

1. Public Administration-Herbert Simon

2. Development Administration — Edward Weidner

3. Public Administration — A Comparative Prespective-Ferrel Heady
4. Ecology of Administration — John D. Montgomery

Options :

22742755785. 1
22742755786. 2
22742755787. 3

22742755788. 4

Question Number : 72 Question Id : 22742714319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742755785. 1
22742755786. 2
22742755787.3

22742755788. 4

Question Number : 73 Question Id : 22742714320 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



22" Amendment to US Constitution deals with which one of the following?

1. Prohibition of denial of the right to vote based on race, colour or previous condition of servitude
2. Revision of Presidential election procedure

3. Limiting the number of times a person can be elected as President

4. Defining Citizenship

Options :
22742755789. 1
22742755790. 2

22742755791. 3

22742755792. 4

Question Number : 73 Question Id : 22742714320 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742755789. 1
22742755790. 2
22742755791.3
22742755792. 4

Question Number : 74 Question Id : 22742714321 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which one of the following is not the advantage of sunset legislation?

1. It assimilates governmental activities

2. It assists in making the financial resources available for new programmes

3. Quantification of benefits in health and human life in sunset budgeting is possible
4. Reallocation of financial resources is made on a regular basis in judicious way
Options :

22742755793. 1

22742755794. 2

22742755795. 3

22742755796. 4

Question Number : 74 Question Id : 22742714321 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742755793. 1
22742755794, 2
22742755795. 3

22742755796. 4

Question Number : 75 Question Id : 22742714322 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which Article of the Constitution of India allows the Union or State fo make any grant for public purposes even if tis not within the purview of
Parliament or State?

1. Atticle 271

2 Article 274

3. Aticle 280

4 Aticle 282
Options :
22742755797. 1
22742755798. 2
22742755799. 3

22742755800. 4

Question Number : 75 Question Id : 22742714322 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742755797. 1
22742755798. 2
22742755799. 3

22742755800. 4

Question Number : 76 Question Id : 22742714323 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which one of the following is not a characteristic of the public corporation forms of organisation?

. Incorporated Under Special Statute
- Insulated Personality

. Centralisation of authority

. Service motive
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Options :

22742755801. 1
22742755802. 2
22742755803. 3
22742755804. 4

Question Number : 76 Question Id : 22742714323 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742755801. 1
22742755802. 2
22742755803. 3

22742755804. 4

Question Number : 77 Question Id : 22742714324 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which one of the following is not expenditure charged on the Consolidated fund of India?

1. The emoluments and allowances of the President

2. Debt Charges for which the Government of India is liable including interest
3. Pensions of the Judges of the Supreme Court

. Salaries and allowance of the Attorney General of India

=

Options :

22742755805. 1
22742755806. 2
22742755807. 3
22742755808. 4

Question Number : 77 Question Id : 22742714324 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742755805. 1
22742755806. 2
22742755807. 3

22742755808. 4

Question Number : 78 Question Id : 22742714325 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which one of the following is not a merit of Progressive Taxes?

1. Principle of equality

2. Equal distribution of income
3. Economical

4. Inelastic Tax

Options :

227427558009. 1
22742755810. 2
22742755811. 3

22742755812. 4

Question Number : 78 Question Id : 22742714325 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742755809. 1
22742755810. 2
22742755811. 3

22742755812. 4

Question Number : 79 Question Id : 22742714326 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
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Which one of the following recommendation of the finance Commission is not implemented by an order of the President of India?

1. Apportionment of Union Taxes
2 Duties

3. Grant in-aid

4 Mode of Central Assistance
Options :
22742755813. 1
22742755814, 2
22742755815. 3

22742755816. 4

Question Number : 79 Question Id : 22742714326 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742755813. 1
22742755814. 2
22742755815.3

22742755816. 4

Question Number : 80 Question Id : 22742714327 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Who was the Governor of Reserve Bank of India when it was nationalized in January, 19497

1. C. D. Deshmuk

2. Benegal Rama Rau

3. H. V. R lyengar

4 R. K. Shanmukham Chetty
Options :

22742755817. 1
22742755818. 2
22742755819. 3

22742755820. 4

Question Number : 80 Question Id : 22742714327 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742755817. 1
22742755818. 2
22742755819. 3

22742755820. 4

Question Number : 81 Question Id : 22742714328 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
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In the context of Public Policy, people who share a particular belief system and who show non-trivial degree of coordinated activity over a time is
known as

1. Muftilevel govermance

2. Multi centric participation
3. Advocacy Coalition

4. Focal group activities

Options :

22742755821. 1
22742755822. 2
22742755823. 3

22742755824. 4

Question Number : 81 Question Id : 22742714328 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742755821. 1
22742755822. 2
22742755823. 3

22742755824. 4

Question Number : 82 Question Id : 22742714329 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Which one of the following is not the characteristics of non-programmed decision?

1. The individual facing the problem may have more than are objective

2. More than one participant in the decision process may have the power to influence
3. Excessive information is available with regard to the problems

4 Agreement will exist over the priority to be assigned to various objectives

Options :

22742755825. 1
22742755826. 2
22742755827. 3
22742755828. 4

Question Number : 82 Question Id : 22742714329 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742755825, 1

22742755826. 2

22742755827. 3

22742755828. 4

Question Number : 83 Question Id : 22742714330 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



ARigorous search for the causes and consequences of public policies- is explained as policy analysis. This statement is attributedto

1. Stuart Nagel

2. Thomas R Dye
3. Ralph Chandler
4 Harold Lasswell

Options :

22742755829. 1
22742755830. 2
22742755831. 3

22742755832. 4

Question Number : 83 Question Id : 22742714330 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742755829. 1
22742755830. 2
22742755831.3

22742755832. 4

Question Number : 84 Question Id : 22742714331 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which one of the following is not a key elements of Corporate Social Responsibility?

1. Economic Responsibility

2. Ethical Responsibility

3. Political Responsibility

4. Philanthropic Responsibility

Options :

22742755833. 1
22742755834. 2
22742755835. 3
22742755836. 4

Question Number : 84 Question Id : 22742714331 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Frafefad # 9 o 9 7 Efg & WHifoie SWRelid & WHE dd o 63 Tol 62

2. 3TOR Y41 IRaiua
3. AHITde JTRandd
4 diPUSRI Jaialila

Options:

22742755833. 1
22742755834, 2
22742755835. 3

22742755836. 4

Question Number : 85 Question Id : 22742714332 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which one of the following is not an objective of social legislation?

. Provision of Social Security

. Eradication of Social evils

. safeguarding the rights of the vulnerable

. Equitable distribution of wealth and other resources

[

o

Options :

22742755837. 1
22742755838. 2
22742755839. 3

22742755840. 4

Question Number : 85 Question Id : 22742714332 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FafafEd 9 o 91 e fGUH o 36349 T8 67

1. HHISD GRET T UIayH

2. WIS SR1g41 BT 34

3. Y ARl & HUBRI DI GRE&T
4. S YT 3T YHIeHT B 9 faaro

Options:

22742755837. 1
22742755838. 2
22742755839. 3

22742755840. 4

Question Number : 86 Question Id : 22742714333 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Concept of Governance in a narrow sense is

1. Capacity Building

2. Use of Technology

3. Network Management
4. Policy implementation

Options :

22742755841. 1
22742755842. 2
22742755843. 3

22742755844. 4

Question Number : 86 Question Id : 22742714333 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
UopTad 31d o 9 &1 @R 4 ardd &

1.&I'1:|__tﬂ.3|14'3' _
2 Vet &1 Judrt
3. Hedd HayH

4 '_‘HT:T PIY-dg-
Options:

22742755841. 1
22742755842. 2
22742755843. 3

22742755844. 4

Question Number : 87 Question Id : 22742714334 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Originally Citizen Charter movement has six principles and which one of the following is not included in them?

1. Choice

2. Transparency

3. Value

4. Bargain
Options :
22742755845. 1
22742755846. 2
22742755847. 3

22742755848. 4

Question Number : 87 Question Id : 22742714334 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o
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1.d494
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3. H{ed

4. Hlal
Options:
22742755845. 1
22742755846. 2
22742755847. 3

22742755848. 4

Question Number : 88 Question Id : 22742714335 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Thomas H Davenport provided the concepts of which one of the following?

1. Business Process Reengineering
2. Public Value

3. Public Choice

4. Public Service Motivation
Options :

22742755849. 1

22742755850. 2

22742755851. 3

22742755852. 4

Question Number : 88 Question Id : 22742714335 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

oY U9 24Ul 4 Rufafead § © g &1 3@yror <t 2
1 faog Uy d3faaia

2. Hidai-e g
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4. graae a1 Uided

Options:

22742755849. 1
22742755850. 2
22742755851. 3
22742755852. 4

Question Number : 89 Question Id : 22742714336 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



“Government process Re-enginerring”(GPR) is aimed at

1. Minimized process Complexity

2. Achieve Good Governance

3. Towards public private Partnerships

4. Control Corruption in Government Services
Options :

22742755853. 1

22742755854, 2

22742755855. 3

22742755856. 4

Question Number : 89 Question Id : 22742714336 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Tg-He T J-Zeifafer (@@ b sr o a1 3Em &

1. WihTRTd Siieadl B g Sl

2. 381 YE It Bl

3 BN U4 ol GgHIiTa 1 3R

4. ToR] Yari § YPER & Fafed &3

Options:

22742755853. 1
22742755854, 2
22742755855. 3

22742755856. 4

Question Number : 90 Question Id : 22742714337 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who among the following thinkers linked the civil Society to Democracy?

1. Carolyn Elliott

2. Alexis de Tocqueville
3. Jean Cohen

4. Larry Diamond

Options :

22742755857. 1
22742755858. 2
22742755859. 3

22742755860. 4

Question Number : 90 Question Id : 22742714337 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
9 4 ¥ 59 fare 1 e 99 & diddd 9 Se1?

1. BT fege

2 Tcifewd & eldida
3 i ®led

4. ol egEs

Options:

22742755857. 1
22742755858. 2
22742755859. 3

22742755860. 4

Question Number : 91 Question Id : 22742714338 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The purpose of ‘Supervision'is to:

A. Reduce accountability for the Supervisor and Supervisee

B. Achieve co-ordination among different part of the organization

C. Ensure that each part of the organization performs exactly the same task as is assigned to it under the work plan
D. Ensure that the organization reaches the goals it has set for it self

Choose the correct answer from the options given below:

1. Aand D only
2.Band C only
3. Aand C only
4 Band D only

Options :

22742755861. 1
22742755862. 2
22742755863. 3

22742755864. 4

Question Number : 91 Question Id : 22742714338 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4 99 B R D

Options :

22742755861. 1
22742755862. 2
22742755863. 3

22742755864. 4

Question Number : 92 Question Id : 22742714339 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following have influenced New Public Management?
A. Chicago School of Economics

B. New Public Administration

C. Public choice theory

D. Cntical theory

Choose the correct answer from the options given below:

1. Aand B only
2. B and D only
3. Aand C only
4 B, Cand D ony



Options :

22742755865. 1
22742755866. 2
22742755867. 3
22742755868. 4

Question Number : 92 Question Id : 22742714339 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. I A AR B

2 Had B AR D

3. HAdA IR C

4 HAdB. C3ARD
Options :
22742755865. 1
22742755866. 2
22742755867. 3

22742755868. 4

Question Number : 93 Question Id : 22742714340 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The ‘Grapevine’ in organizational communication is:

A_An informal channel of communication

B. To stretch throughout the organization in all direction, irrespective of the authority levels
C. To learn something informally and unofficially by means of gossip or roumer

D. A Secret Channel of Communication

Choose the correct answer from the options given below:

1. Aand B only

2. A BandC only

3. A, B andD only

4 A B, CandD only

Options :

22742755869. 1
22742755870. 2
22742755871. 3

22742755872. 4

Question Number : 93 Question Id : 22742714340 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. Had A AR B

2 HddA B3R C
3. ®add A B3RD

4 ®AA, B, C, dRD

Options :

22742755869. 1
22742755870. 2
22742755871. 3

22742755872. 4

Question Number : 94 Question Id : 22742714341 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who are the protagonists of Minnowbrook [l|

A. Rosemary O Leary

B. Dwight Waldo

C. George Frederickson

D. David Van Slyke

Choose the correct answer from the options given below:

1. Band C only
2. Aand C only
3. Aand D only
4. B and D only

Options :

22742755873. 1
22742755874. 2
22742755875. 3
22742755876. 4

Question Number : 94 Question Id : 22742714341 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddB IR C
2 HAdA IR C
3 Had A R D
4 HadB AR D
Options :

22742755873. 1
22742755874, 2
22742755875. 3

22742755876. 4

Question Number : 95 Question Id : 22742714342 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following major themes of Minnowbrook | continued in Minnowbrook [1?
A_ Concern for Social Equity

B. Marketization

C. Concern for democratic values

D. Professionalism

Choose the correct answer from the options given below:

1. Aand B only
2.Band C only
3. Cand D only
4 Aand C only

Options :

22742755877. 1
22742755878. 2
22742755879. 3

22742755880. 4

Question Number : 95 Question Id : 22742714342 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. PAdA IR B
2 HadB AR C
3. Had C 3R D
4 HATAIRC
Options :

22742755877. 1
22742755878. 2
22742755879. 3

22742755880. 4

Question Number : 96 Question Id : 22742714343 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following acts as a constraint to Organizational Development?
A Issues relating to power and authority

B. Separation of management from ownership

C. Issues relating to growth and decay of organization

D. Collaborative leadership

Choose the correct answer from the options given below:

1. Aand B only
2. Cand D only
3. Aand C only
4. B and D only

Options :

22742755881. 1
22742755882. 2
22742755883. 3

22742755884. 4

Question Number : 96 Question Id : 22742714343 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. Had A AR B
2 HaaC AR D
3 HATAMRC
4 ®adB AR D

Options :

22742755881. 1
22742755882. 2
22742755883. 3

22742755884. 4

Question Number : 97 Question Id : 22742714344 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are true of non-programmed decision of Herbert Simon?
A_Novel decision

B. Unstructured in nature

. Repetative in nature

D. Satisficing & not optimising alternatives

Choose the correct answer from the options given below:

1. A, B, CandD only
2. A BandC only
3. B, CandD only
4 A BandD only



Options :

22742755885. 1
22742755886. 2
22742755887. 3
22742755888. 4

Question Number : 97 Question Id : 22742714344 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA B C3RD
2 HadA B3R C
3. ®adB. C 3R D

4 HAdA B3RD
Options :
22742755885. 1
22742755886. 2
22742755887. 3

22742755888. 4

Question Number : 98 Question Id : 22742714345 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are mechanisms developed by F. W. Taylor to operate his principles of Scientific Management?
A. Time Study

B. Standardization of Tools

C. Uniformity in rate system

D. Modemn costing methods

Choose the correct answer from the options given below:

1.A Band Conly
2.A BandD only
3.B, Cand D only
4. A CandD only

Options :

22742755889. 1
22742755890. 2
22742755891. 3

22742755892. 4

Question Number : 98 Question Id : 22742714345 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4 HdA C.D



Options :

22742755889. 1
22742755890. 2
22742755891. 3
22742755892. 4

Question Number : 99 Question Id : 22742714346 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the following are the cntics of Elton Mayo?
A_Reinhard Bendix

B. Daniel Bell

C. Lloyd H. Fisher

D. Feritz Roethlisberger

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A CandD only
4 A BandD only

Options :

22742755893. 1
22742755894. 2
22742755895. 3
22742755896. 4

Question Number : 99 Question Id : 22742714346 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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C. TS . fheR
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Ji feu 7o faeedl § 9 981 SR &1 999 Difeis:

1. HadA B, 3R C
2 ®ddB, C, 3D
3. ®adA, C, 3D
4 HAAA B, AR D

Options :

22742755893. 1
22742755894. 2
22742755895. 3

22742755896. 4

Question Number : 100 Question Id : 22742714347 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following states have bicameral legislative?
A_ Bihar

B. Andhra Pradesh

C. Gujarat

D. Karnataka

Choose the correct answer from the options given below:

1. A BandC only
2.B, CandD only
3. A CandD only
4 A BandD only



Options :

22742755897. 1
22742755898. 2
22742755899. 3
22742755900. 4

Question Number : 100 Question Id : 22742714347 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA B C
2 ®adB. C D
3. ®adA C D
4 HAdA B. D
Options :

22742755897. 1
22742755898, 2
22742755899, 3

22742755900. 4

Question Number : 101 Question Id : 22742714348 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is/are base/bases of the Constitution of a Panchayat?
A. Population

B. Size of the area

C. Industrial establishment in that area

D. Importance regarding revenue

Choose the correct answer from the options given below:

1. Aonly

2. Aand B only
3. Aand C only
4 Aand D only

Options :

22742755901. 1
22742755902. 2
22742755903. 3
22742755904. 4

Question Number : 101 Question Id : 22742714348 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742755901. 1
22742755902. 2
22742755903. 3
22742755904. 4

Question Number : 102 Question Id : 22742714349 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The evolution of the Comparative Public Administration movement is based on:
A_ Post First World War

B. Graduate course at University of California

C. ASPA set up a group in 1963

D. Ford Foundation Funding

Choose the correct answer from the options given below:

1. A, B, CandD only
2.B, Cand D only
3. A CandD only
4 A BandD only

Options :

22742755905. 1
22742755906. 2
22742755907. 3
22742755908. 4

Question Number : 102 Question Id : 22742714349 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. ®ddA B, C. D
2 ®ddB,C D
3. ®adA, C, D
4 HaAA B, D

Options :

22742755905. 1
22742755906. 2
22742755907. 3

22742755908. 4

Question Number : 103 Question Id : 22742714350 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Choose the right answer from the options related to the NGOS and C50s.
A They have emerged aiming inclusive development

B. They represent a fundamental part of the democratic Systems

. They provide elite Voices who have representations

D. They mobilise Citizens into movements

1. A, BandD only
2. A CandD only
3. A BandC only
4 A B, CandD only

Options:



22742755900. 1
22742755910. 2
22742755911. 3

22742755912. 4

Question Number : 103 Question Id : 22742714350 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

IR BRI Qs (. ol 1) 1 ffae grargd 9me- (@ g, off) & dey o ugl faded & g4
A 3 ETaEH fawT @I 088 Bd GU IR §

B. U dliddiiAd YUl & Jayd 31 &1 Hfaffia od 3

C. 3 yfaffie 37 g e a1f & e &)

D. T IATR®I @I AiGIa & o8 Igafed od &

Frd e e fowen! § U W61 SR @1 907 P

1. %9dA B.D

2 WAdA C D

3 WadA B. C

4 WAdA B. C. D
Options :
227427559009. 1
22742755910. 2
22742755911. 3

22742755912. 4

Question Number : 104 Question Id : 22742714351 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A budget execution system should meet the main objectives of a public expenditure management system
A Agaregate expenditure control

B. Strategic resource allocation

C. Operational efficiency

D. Service delivery

Choose the correct answer from the options given below:

1. Aand B only
2. Aand C only
3. A BandConly
4. B, Cand D only

Options :

22742755913. 1
22742755914. 2
22742755915. 3

22742755916. 4

Question Number : 104 Question Id : 22742714351 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Ud goic WG o0a®) Bl U dids o0 Wa=H ofawy] & fo 457 I5%d] Bl [T BT aIige?

A THY o g0

B. TOHIfa® I e

C. T Gl

D. G 3feraft

1 U 70 faeul ¥ 51 SR &1 957 BIfvT:

1. HadAIMRB
2 HaaAARC
3 Bad A B, IR C
4 $3a B, C ARD

Options :

22742755913. 1
22742755914. 2
22742755915. 3
22742755916. 4

Question Number : 105 Question Id : 22742714352 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The public enterprises under departmental undertaking form of organisation can be organised into following ways
A_Controlled by Ministry itself

B. Controlled by an Inter-Ministerial Board

C. Controlled by the Department in Ministry

D. Controlled by an Inter-Departmental Committee

Choose the correct answer from the options given below:

1.A, Band Conly
2.B,Cand D only
3.A Cand D only
4. Band C only



Options :

22742755917. 1
22742755918. 2
22742755919. 3
22742755920. 4

Question Number : 105 Question Id : 22742714352 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T3 & faHrig SUHH 910 W0 & i 9ae-d 3981 ®f -9 ®01 § 97ied &1 o1 9@l 82

A 0 HAq g i
B. 3~ HAAIY Wi g e

C. FATGY & 3fGY o [aHIT g1 g

D. 3~ fayrig afitfa g i

Iid U TE fodedl T U8t TR BT 947 DI

1. HadA B.C

2 BadB. C D

3 BadA C D

4 BadB. C
Options :
22742755917. 1
22742755918, 2
22742755919, 3

22742755920. 4

Question Number : 106 Question Id : 22742714353 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In General, the most notable tools and techniques of Decision-making include
A. Cost-Benefit Analysis

B. Qualitative Techniques

C. Knowledge Management

D. Management Information Systems

E. Short terms planning

Choose the correct answer from the options given below:

1. A B and C only
2.A B, CandD only
3. B, Cand D only
4 A DandE only

Options :

22742755921. 1
22742755922. 2
22742755923. 3

22742755924. 4

Question Number : 106 Question Id : 22742714353 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T =0 T iy & 9aifie Seog-ig Susvl § ddaiied | F H T T-a e 82

A TRTE-aTH fa=erm

B. UM ddmd

C. IH &

D. U&= g1 Homeh

E. qg3fafy FaeH

Fr i e fiwedl © 4 92 SR @1 99 D

1. ®adA B 3R C
2. H9dA B C ARD
3. %9dB, C 3R D
4 HIAA D ARE
Options :
22742755921 1
22742755922 2
22742755923, 3

22742755924. 4

Question Number : 107 Question Id : 22742714354 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to Harold Lasswell which of the following act as base of functional analysis of policy making?
A_Intelligence

B. Invocation

C. Termination

D. Appraisal

E. Promotion

Choose the correct answer from the options given below:

1.A B, Cand D only

2. A CandD only

3. B, D and E only

4 A B, C, DandE only

Options :

22742755925. 1
22742755926. 2
22742755927. 3

22742755928. 4

Question Number : 107 Question Id : 22742714354 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



BNt e & UR, F9 F 9 SH-aH Hifd el & yemias s1uR & €9 § &1/ $3d 37
AT

B. ¥R (FaIHTH)

C. T

D. 3B

E daiq

1 feu T el § © 981 S &1 907 Do

1. @ddA B, C, 3R D
2. ®adA, C, AR D

3. ®ad B, D, R E

4 HadA B C D 3RE
Options :
22742755925. 1
22742755926. 2
22742755927. 3

22742755928. 4

Question Number : 108 Question Id : 22742714355 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following features characterize the Decision making in terms of “Muddling through™?
A_ It proceeds through a succession of incremental changes

B. It involves mutual adjustment and Negotiation

C. Incremental approach involves Trial and Error Method

D. Policy is made once and for all

Choose the correct answer from the options given below:

1. A, Band C only
2.B, CandD only
3. Cand D only
4 AandD only

Options :

22742755929. 1
22742755930. 2
22742755931. 3

22742755932. 4

Question Number : 108 Question Id : 22742714355 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IO T (AT ) & Je § fFAvfg & A § 4 S I sificsam 82
A T8 AgfSHR uRad=l & &9 H SR gldl o

B. 39H URWN® A d diait fausd aidl ol

¢. dfigfgarl Iur ¥ udd I usia siqdw sidi 81
D, =ifd 3ifad T9 ¥ §915 wdi & |
-d feu ¢ famedl § § 921 IR &l 98- DIt

1. HadA B3R C
2 ®dd B, C AR D
3. ®aaC AR D
4 HAAAMRD

Options :

22742755929. 1
22742755930. 2
22742755931. 3
22742755932. 4

Question Number : 109 Question Id : 22742714356 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are the charactecstics the of Distributive Policies?

A_These policies concerned with the Distribution of New resources

B. Adult education programme, Food relief, Social insurance are the examples of these policies
. These polices also Concerned with changing the distribution of existing resources

Choose the correct answer from the options given below:

1.A Band Conly
2. Aand C only
3. Band C only
4 Aand B only

Options:



22742755933. 1
22742755934. 2
22742755935. 3
22742755936. 4

Question Number : 109 Question Id : 22742714356 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g o 9 fgvones Jifoyl &t e-e= 9@ AfRpan g 2

A 3 ifera 7T e & a0 9 96id 8

B. Ulg e oieH, W Wed, GHIGd §HT 57 Hifddl & 3aevl &l

c. O Jifaut Geme gunEt & faaeo &f ufafda 33 O ot WieR 3Edi &

T

Hid fGu U fawedl © € 981 IR &1 999 DIfIe:

1. BadA B, 3R C
2 BAAA, 3R C

3. ®ad B, 3R
4 Had A 3R

o R

Options :

22742755933. 1
22742755934, 2
22742755935. 3

22742755936. 4

Question Number : 110 Question Id : 22742714357 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the functions of policy maker in making rational policy?
A. Policy maker identifies the underlying problem

B. Policy maker identifies the range of policy alternatives

C. Policy makers never Compare the alternatives with Benefits

D. Policy maker prepares a Complete set of alternative policies and resources
Choose the correct answer from the options given below:

1. A, B, CandD only
2. A BandC only
3. B, Cand D only
4 A BandD only

Options :

22742755937. 1
22742755938. 2
22742755939. 3
22742755940. 4

Question Number : 110 Question Id : 22742714357 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dBgTd Aifd A # Hifg Fefa & R E 9 oH-eH 3 e g2

A Fifa Fmfar go gow &1 ugaH Sdl o

B. Fifd Fafar Hifd fawedl @t 39 &1 UgaH PRl g |

¢. -fifd Fafar fadedl &f ey T Saiy ga-1 Tl dd g

D. Hifa fAmfar dwfeus Hifani @ Rl afgd TureHT &1 U6 T U 3R &dl B

J feu 7o faeedl § 9 981 3R &1 999 Sifeis:

1. ®adA B, C3IRD
2 Had A B3R C
3. ®dd B, C AR D
4 HIAA B3ARD

Options :

22742755937. 1
22742755938. 2
22742755939. 3
22742755940. 4

Question Number : 111 Question Id : 22742714358 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are features of Social Justice?

A. Equality before law

B. Prohibition of discrimination

C. Merit based employment

D. Human Rights

Choose the correct answer from the options given below:

1. A, B and C only
2. A BandD only
3. B, Cand D only
4 A CandD only

Options :

22742755941. 1
22742755942. 2
22742755943. 3
22742755944. 4

Question Number : 111 Question Id : 22742714358 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fafafad ¥ 9 9feie a1 &1 [92edr &1 82

A B H THHA

B. HGHId &1 Uiauy

C. O YT IR
D HEdIE R

= fGT 7T fadedl & 9 U5 SR &1 999 DI

1. $ddA B C
2 Had A B. D
3. ®adB. C D
4 HAAA C D
Options :
22742755941. 1
22742755942, 2
22742755943, 3

22742755944, 4

Question Number : 112 Question Id : 22742714359 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is not a specific component of Ujjawala, a comprehensive Scheme for prevention of Trafficking?
A. Prevention which includes non-formation of community of vigilance groups

B. Rescue, for safe withdrawal of the victim

C. Reintegration for restoring into family/community

D. Repatriation, to provide support to cross boader victims for their safe repatriation to their country of origin

Choose the correct answer from the options given below:

1.A Band Conly
2.A BandDonly
3. A Cand D only
4B, Cand D only

Options :

22742755945, 1
22742755946. 2
22742755947. 3

22742755948. 4

Question Number : 112 Question Id : 22742714359 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frmfofea & @ -9 cRdl U Afgenedl &1 Soe oaTe v A Tt saue dir Swaa @ fafy 926 e 3

A AR R S Sadl J9 & i it &
B. 1 Uifd @l Qea arudl o for

C. TRER T & e
D. Bt G i @l 37ah et o1 A Rt e o e e e e

1. BadA B, C
2 $adA B, D
3 $adA C,D
4 %308, C,D

Options :

22742755945. 1
22742755946. 2
22742755947. 3

22742755948. 4

Question Number : 113 Question Id : 22742714360 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following have influenced the emergence of Public Governance approach?
A_ New Public Management

B. Public Choice Approach

C. Increasing role of institutions outside government

D. Failure of formal government structures in effective Public Service delivery

Choose the correct answer from the options given below:

1.A, B, Cand D only
2. Aand B only
3. Band C only
4. C and D only

Options :

22742755949. 1
22742755950. 2
22742755951. 3

22742755952. 4

Question Number : 113 Question Id : 22742714360 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fafefea § 9 @ 9 91df 3 S-S TRE gD & 36d & wHIiad faar 8
A T4 i JeieH

B. Tl 90 iR dITl
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-d feu ¢ famedl § § 921 IR &l 98- DIt

1. ®ddA B, C. D
2 Had AR B
3 ®aAB AR C
4 HIAC AR D

Options :

22742755949. 1
22742755950. 2
22742755951. 3
22742755952. 4

Question Number : 114 Question Id : 22742714361 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The 10" Report of 2 ARC focussed on national training programme for civil servants highlighting which of the following criteria?
A Responsiveness

B. Commitment

C. Accountability

D. Awareness

Choose the correct answer from the options given below:

1.A B, CandD only
2.A CandDonly
3.A Band D only
4 B CandDonly



Options :

22742755953. 1
22742755954, 2
22742755955, 3
22742755956. 4

Question Number : 114 Question Id : 22742714361 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

R W & forw e wfe P R 5 fgda T om. 93 103 o o Fgfifien # 9 ot 5 sl an g @
A. e St

B. Hias

C. Fawed

D. STl

1. 590A B CIRD

2 $ITA CIHRD

3 $ITA B3RD

4 9B CIARD
Options :
22742755953, 1
22742755954, 2
22742755955, 3

22742755956. 4

Question Number : 115 Question Id : 22742714362 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The Limitation of the probability Sampleis_

A_ It does not give a guarantee of the representativeness of the Sample from a population
B. The Data fulfills the standard of the normal probability curve

C. It has no risk of Generalization of the Results

D. It Supports Sensitivity analys or charts

Choose the correct answer from the options given below:

1. Aand B only

2. Band C only

3. B, Cand D only
4. Aonly

Options :

22742755957. 1
22742755958. 2
22742755959. 3

22742755960. 4

Question Number : 115 Question Id : 22742714362 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



UIRaa Uiagae (Wiefatd] Trad) & OiHT Bidl o-
A T SHaE ¥ faw U ¥d & wiaHfie 8 &f TR T8 a1 o

B. 3fdhs A Uisldicic] @d & HFd! U &Y Jaid &

C. 399 URUHI & GRG0 T WigH Tal sidll
D. T8 Yde-=itadl & fa=ayur 3R 9re] &1 90— $dl o

J feu 7o faeedl § 9 981 3R &1 999 Sifeis:

1 Had A AR B
2 ®HaAB AR C
3. ®da B, C AR D
4 Had A

Options :

22742755957. 1
22742755958. 2
22742755959. 3
22742755960. 4

Question Number : 116 Question Id : 22742714363 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



List | List Il

Book Author
A. The Executive in Action |. Dwight Waldo

B. Introduction to the Study of Public Administration|ll. L. D. White

C. Public Administration in a time of Turbulance 1. F. M Mars

D. Elements of Public Administration V. Marshall Dimock

Choose the correct answer from the options given below:

1.A-1,B-1I, C-1ll, D- IV
2 A-1l,B-1,C-1ll,D- IV
3 A, B-1,C-IV,D-1ll
4 A-IV,. B-1l, C-1,D- 1l
Options :
22742755961. 1
22742755962. 2
22742755963. 3

22742755964. 4

Question Number : 116 Question Id : 22742714363 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. A, B-ll, C-ll, DIV
2. Al B-1, CAIl, DIV
3. Al B-1, CIV, DI
4 AV, B-ll, C-1, DI
Options :
22742755961. 1
22742755962. 2
22742755963. 3

22742755964. 4

Question Number : 117 Question Id : 22742714364 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



List | Book List |l Authors

A. Design for Policy Sciences |. Chris Argyris

B. Management challenges for the 21st century|ll. Yehezkel Dror

C. Motivation and Personality Ill. Peter F Drucker

D. Organizational Learning V. Abraham Muslow

Choose the correct answer from the options given below:

1. A-1l, B-IV, C-1ll, D-|
2. A-1,B-1l.C-IV,D-1ll
3. A-1,B-1lIl, C- 1V, D-1I
4 A-1l, B-1I, C-1V, D- 1
Options:
22742755965. 1
22742755966. 2
22742755967. 3

22742755968. 4

Question Number : 117 Question Id : 22742714364 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Ll Gicilll
I&® NICED
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1. All, B-IV, C-lll, D-I
2. Al B-ll, CIV, D-lI
3. Al B-lll, C-IV, D-lI
4. Al B-ll, C-IV, D-I
Options :
22742755965. 1
22742755966. 2
22742755967. 3

22742755968. 4

Question Number : 118 Question Id : 22742714365 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



List | Theories List Il Explanations

A. Immaturity Maturity Theory|l. Money is the sole motivator

B. Equity theory Il. Comparison of Rewards
C. Expectancy Theory Ill. Instrumentation
D. Monistic theory V. Self-Confident and Self Controlled person

Choose the correct answer from the options given below:

1. A-1l, B-IV, C-1ll, D-|
2 A-IV. B-1Il, C-1lI, D-1
3 A-1,B-1l.C-1ll,D- IV
4 AL B-1V, C-1, D-I
Options :
22742755969. 1
22742755970. 2
22742755971. 3

22742755972. 4

Question Number : 118 Question Id : 22742714365 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. All, B-IV, C-lll, D-I
2. AV, B-Il, C-lIl, D-I
3. Al B-ll, CIl, DIV
4. A, B-IV, C-l, D-lI
Options :
22742755969. 1
22742755970. 2
22742755971. 3

22742755972. 4

Question Number : 119 Question Id : 22742714366 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



List | Events List Il Year

A. Introduction of Portfolio System |. 1687

B. Pitts India Act II. 1839

C. Demarcation of Central and provincial Subjects|lil. 1784

D. Establishment of Corporation in Madras V. 1919

Choose the correct answer from the options given below:

1. A-1l, B-IV, C-1, D-1Il
2. A-1l, B-1Il, C-1V, D-
3. A-1l, B-1, C-1ll, D- IV
4 A-1Il, B-1, C-11,D- IV
Options:
22742755973. 1
22742755974. 2
22742755975. 3

22742755976. 4

Question Number : 119 Question Id : 22742714366 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A. TICRiTeral Humet 251 HRY . 1687
B. fiew sSfEan afdfgn II. 1859
C. %9 g Wiag faudl &1 SHiE-|lIl. 1784
D. 959 ® FE &1 =i IV. 1919

T fGu U fa@edl § € 981 SR &l 99 Dift:

1. All, B-IV, C-1, D-lI
2. Al B-lIl, C-IV, D-I
3. Al B-1, Cll, DIV
4. Al B-l, C-ll, DIV
Options :
22742755973, 1
22742755974. 2
22742755975. 3

22742755976. 4

Question Number : 120 Question Id : 22742714367 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



List | List I

A State Administration |. Divisional Commissioner

B. Regional Administration |Il. District Collector

C. Revenue Administration|lll. Chief Secretary

D. District Administration IV Board of Revenue

Choose the correct answer from the options given below:

1. A-1 B-1ll C-1l. D- IV
2 A-lll B-1,C-IV. D-I
3 A-IV. B-1Il C-11, D-1
4 A-1 B-1I, C-1ll D- IV

Options :

22742755977. 1
22742755978. 2
22742755979. 3
22742755980. 4

Question Number : 120 Question Id : 22742714367 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Tl | ' 1Y 1| BT AeE difee

I | il
A. T UEIEA || 9YFRT e

B. &3 WEEE Il THe saeet
C. TraTeg WEITEH|IIl. 7 ST
D. foren wemea |Iv. Tea Hea

=< fu 7T fodedl | © Ol 9T &1 999 I

1. Al B-llI, C-ll, DIV
2. All, B, C-IV, D-lI
3. AV, B, C-II, DA
4. A, B-l, G-I, DIV



Options :

22742755977. 1
22742755978. 2
22742755979. 3

22742755980. 4

Question Number : 121 Question Id : 22742714368 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

List | Principles of Social AuditiList Il Explanation

A. Multi-Perspective |. Participatory governance is the basic principle of a social audit

B. Participatory II. The individual’s voices influence by the audit entity must be head and reflected
C. Multi-directional Il All Participants report on multiple areas of the social audit

D. Verffication IV. It makes an unbiased verification of accounts of social organisation

Choose the correct answer from the options given below:

1.A-1,B-1I, C-1Il, - IV
2 A-1I B-1, C-1Il,D-V

3. A-1ll, B-IV, C-1, D-
4 A-IV B-1Il, C-11, D-1
Options:

22742755981. 1
22742755982. 2
22742755983. 3

22742755984. 4

Question Number : 121 Question Id : 22742714368 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

dl | & T || &1 e diferg

Tl | Ll

AT TrEl-aRIeT g

A w5 Tigwdig |. TR RIS ST - gheT 1 0 (GG o

B. FEHFT . -SRI R THITG afea b St G W ey S HeiEd g aney
C & - e g== 1. T FEuRT g o o alie & faftm g R

D. eI V. TE SIS 61 & ol & Jaieled 9ad &3l 8

Fd feT e fadedl 7 9 gl IR &1 959 Bifos:

1. AL, B-ll, G-I, D-IV
2. Al B, C-Ill, D-IV

3. All, B-IV, C-I, DI
4. A-lV, B-lll, C-lI, DAl
Options:

22742755981. 1
22742755982. 2
22742755983. 3

22742755984. 4

Question Number : 122 Question Id : 22742714369 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



List | List Il

A. France [l. Modernizing Administration

B. Britain |ll. Classical Administration

C. Germany|lll. Prefect

D. Japan |V Civil Culture

Choose the correct answer from the options given below:

1. A-IV. B-1, C-ll, D-1I
2 A-1l,B-1,C-1ll,D- IV
3 AL B- 1V, C-11, D=1
4 A-1, B-1Il, C-11,D- IV
Options :
22742755985. 1
22742755986. 2
22742755987. 3

22742755988. 4

Question Number : 122 Question Id : 22742714369 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Tl | ' 1Y 1| BT AeE difee
T [

A TR || TR &1 31yYH® F961
B. foe |1 Fenisa u=meH

C. S Il TorRae

D. S|V, TR b id

i feu e fadedl § © Tt 3R & 98 Sifod:

1. AV, B-I, C-lll, D-II
2. Al B, C-lII, DIV
3. All, B-IV, C-lI, D-l
4. A, B-Il, C-Il, DIV



Options :

22742755985. 1
22742755986. 2
22742755987. 3
22742755988. 4

Question Number : 123 Question Id : 22742714370 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

List | Authors List Il Book

A. Thomas R Dye |l. Public policy Analysis' An Integrated approach

B. William N Dunn [ll. Design for policy Sciences

C. Yehezkel Dror |lll. Managing the public sector

D. Andrew Massey|lV. Understanding public policy

Choose the correct answer from the options given below:

1. A-IV,B-1, C-II, D-1ll
2. A-1,B-1v, C-1I,D- 1l
3. A-1,B-1Il, C-11,D- IV
4 A-1, B-1l, C-1ll, D- IV
Options:
22742755989. 1
22742755990. 2
22742755991. 3

22742755992. 4

Question Number : 123 Question Id : 22742714370 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

gt | & Y || &1 A B

Il | Gl

A. 4TS HY. TTS ||. Ufeies uifer ey o= Seifes U WE
B. faferms w9 5|11 FEuTs BR uiies! asis
C.IEHhaGR |l TR g ufss Saex

D. TR HS |1V JiSxelen ufses diferst

-d feu e famedl § 4 U1 I’ &1 98- DIt

1. AV, B-I, C-ll, D-lI
2. A, B-Iv, C-lI, D-Il
3. A, B-lll, C-Il, D-IV
4. A, B-ll, C-lll, D-IV

Options:

22742755989. 1
22742755990. 2
22742755991. 3

22742755992. 4

Question Number : 124 Question Id : 22742714371 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



List | List |l

A. Collaborative governance|l. Giving a report of one self

B. Capacity Il. Emphasis are the importance of Strong, Shared Values
C. Accountability lIl. Participation of NGOs and Non Paolitical actors
D. Communitarianism IV Ability to overcome opposition in order to accomplish

Choose the correct answer from the options given below:

1A, B-1, C-1Vv, D-1ll
2 AN B=1I,C<1,D- IV
3 A1l B-l,C-1,D-1V
4 ANl B-1V, C-1, D- I
Options :
22742755993 1
22742755994, 2
22742755995. 3

22742755996. 4

Question Number : 124 Question Id : 22742714371 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tl | ' 1Y 1| BT AeE difee

I | sl
A FEPR! TEA|. 0 &R F RaE &1
B. & 1. T=TeRT W= Hed! & A5 T a0

C. WaEeal (Il T W 3. U I Tomfae Salat S Gy
D SHEE IS IV, 18T Wi & fore el & FHedror &t g
=< U 7T fodedl | ° Ol ST &1 999 I

1. All, B-l, C-IV, D-IlI
2. Al B-ll, C-I, DIV
3. AL, B, C-I, DIV
4. All, B-IV, C-1, D-lI




Options :

22742755993. 1
22742755994, 2
22742755995, 3
22742755996. 4

Question Number : 125 Question Id : 22742714372 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

List | List [

A. Cluster Sampling |. Divide the Sampling Population into Groups

B. Simple Random Sampling|ll. Each element is the Population is given an equal chance of Selection

C. Judgemental Sampling  |lll. Extremely useful in Constructing a Historical Reality

D. Snowball Sampling IV. Selecting a Sample Using Networks

Choose the correct answer from the options given below:

1.A-1, B-1I, C-1ll, D- IV
2 A-1l, B-1,C-1Il, D- IV
3 A-Ill, B-1V, C-1, D- i
4 A-IV,B-1Il, C-1I, D-1
Options:
22742755997. 1
22742755998. 2
22742755999. 3

22742756000. 4

Question Number : 125 Question Id : 22742714372 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
gt | & Y || &1 A B

Il | Gl

A TR MmN |1 SR e &1 wHEl ¥ are

B. fome e St T89S & 51 a@ 1 g5 9H &1 Us SHH HaE &
C. Shofica 9w Il U Uaeriee gurd & Fwion & s guant

D. W Sa gmiehT |1V, Jead P JUANT S Grae g

d feu e famedl § 4 U1 IR &1 98- Bt

1. A, B-ll, C-ll, D-IV
2. All, B-l, C-lll, D-IV
3. Al B-IV, C-1, DAl
4. A-IV, B-Ill, C-ll, D-|

Options:

22742755997. 1
22742755998. 2
22742755999. 3

22742756000. 4

Question Number : 126 Question Id : 22742714373 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following in the correct sequence of its evolution in the discipline on Public Administration:
A Motivation — hygiene theory

B. Ecological Approach

C. Needs hierarchy theory

D. Classical Approach

Choose the correct answer from the options given below:

1A B.C,D
2D C BA
3D CAB
4ACBD



Options :

22742756001. 1
22742756002 2
22742756003. 3

22742756004. 4

Question Number : 126 Question Id : 22742714373 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T RIS & 990 & g UM 31 370 #1000 [0 & Ta) F9 5 o00rd BIvie| I & (o8 Iad @) 1 JaM Biive:

A TRV - TR g

B.T F\{F?u Hfﬁ T JUH

C. SMaRGhH TTfA g
D. Q‘<$|qﬂq'lq
T few o ot 7 9 ) IR 1 T B

1AB,C

2.D,CBA
3JD.CAB
4ACBD
Options :
22742756001. 1
22742756002. 2
22742756003. 3

22742756004. 4

Question Number : 127 Question Id : 22742714374 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



|dentify the correct sequence in the development of administrative theories/principles.
A_ General Principles of Administration

B. Scientific Management

C. The Study of Administration

D. Human relations theories

Choose the correct answer from the options given below:

1.A B CD
2 CABD
3.C,BAD
4 BACD

Options :

22742756005. 1
22742756006. 2
22742756007. 3

22742756008. 4

Question Number : 127 Question Id : 22742714374 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

9 YIS EiRd/ S 1 39 [der & 9gl PHER UedH Bifed
A TS & gHY gl

B. d9H® Usy

C. WIS Bl 3T

D. A Hdy fgid

1 feu e Ayt & € 981 IR &1 997 BT

1. ®ddA B, C. D
2 &dd C A B D
3. %ddC B AD
4 HddB,A C D



Options :

22742756005. 1
22742756006. 2
22742756007. 3

22742756008. 4

Question Number : 128 Question Id : 22742714375 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Chronologically arrange the institutions of Financial Regulatory Bodies in India according to their year of institution
A Reserve Bank of India(RBI)

B. Securities & Exchange Board of India (SEBI)

C. Insurance Regulatory and Development Authority of India (IRDA)

D. Pension Fund Regulatory and Development Authority (PFRDA)

Choose the correct answer from the options given below:

1.B,D,C,A
2ABCD
JACBD
4ADBC

Options :

227427560009. 1
22742756010. 2
22742756011. 3

22742756012. 4

Question Number : 128 Question Id : 22742714375 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YR i 9 faxiig Fame Twirel 1 3@ RITH & 94 & B HHMYR gaiRyd Hiig:
A HRGG o §@
B. WRdTg wfayfd 3 faf g 513 (@6

C. YRdig di1 o am® g [aem WiE (313 3R 31 1)

e

g g fqdhrg WIfts (4 Tk 3R 21 T)

D tz= g

i e 7 fagedl f € 8l IR & 994 DI

1.B,D,C A
2ABCD
3A,CBD
4 ADBC

Options :

227427560009. 1
22742756010. 2
22742756011. 3

22742756012. 4

Question Number : 129 Question Id : 22742714376 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following in a chronological sequence of their launching in India.
A Jawaharlal Nehru National Urban Renewal Mission (JNNURM)

B. Smart Cities Mission (SCM)

C. Swachh Bharat Mission (SBM)

D. National Urban Livelihoods Mission (NULM)

Choose the correct answer from the options given below:

1.A,B,C,D
2D CAB
3.C,DAB
4 ADCB

Options :

22742756013. 1
22742756014. 2
22742756015. 3
22742756016. 4

Question Number : 129 Question Id : 22742714376 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fgfRad ®I 37d YRA H ARY T T & Sl HHITER aid ST IR 3q Yo Sl Bl T Bt

A TR T 5% AP el el e (of T T SR g )
B. wTe fidt e ma di )

C. W YRd fIeH (mg sl o)

D. T el Sl = (T 3 U0 TH)
i e U fawed & 9 98 R @1 99 BT

1.AB,C,D
2D, CAB
3.C,D,AB
4ADCB

Options :

22742756013. 1
22742756014. 2
22742756015. 3

22742756016. 4

Question Number : 130 Question Id : 22742714377 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the Sustainable Development Goals given by United Nations in a sequential order.
A. Ensure availability and sustainable management of water and Sanitation for all

B. Ensure healthy lives and promote well-being for all at all ages

C. End poverty in all its form every where

D. Achieve gender equality and empower all women and girls

Choose the correct answer from the options given below:

1.CABD
2.B,C,DA
3.C,B,D,A
4 ABDC

Options :

22742756017. 1
22742756018. 2
22742756019. 3

22742756020. 4

Question Number : 130 Question Id : 22742714377 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tgad Y &R PR Tad e aedl &1 HHIR F:

A G & o7 oI U6 U6 q%Ts &1 SUdsdl 9uT Idd Fey R &

B. it 31g & TN & T Tarea s Siia- YRiHd A1 99T GRETE &l Seal ol

C. 94t 98 § [t ¥t wu H [aamE THis & 9918 ST

D. i@ TAM Ui 1 a3 g9yt afganst ud asfedl & 92ad &3]
= fou o foweal € € 981 SR @1 994 Sifore:

1. ®ad C,A B3R D
2 ®ddB, C D ARA
3. ®adC, B D IARA
4 HAAA B, D3R C

Options :

22742756017. 1
22742756018. 2
22742756019. 3

22742756020. 4

Question Number : 131 Question Id : 22742714378 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the stages of budget preparation and consolidation in India from the beginning

A. Preparation and Consolidation of Preliminary Estimates by the Disbursing officers

B. Scrutiny of Estimates by the Departmental Controlling Officers

C. Scrutiny and Consolidation by the Ministry of finance

D. Scrutiny of the Revised Estimates by the Accountant General and Administrative Department
E. Approval by the Cabinet

Choose the correct answer from the options given below

1.A,B,C,D,E
2ABDCE
3 B,CDAE
4 C,D,AB,E

Options :

22742756021. 1
22742756022. 2
22742756023. 3

22742756024. 4

Question Number : 131 Question Id : 22742714378 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



=

Ugd TR Y F T HRd H Fo1¢ R H 3R THIG B3 & I & Jouaiedd Hiferd|

A. TiaR UG gRT RS SHA B TR R JHS
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C. fa #aTe™ gR1 §id 3R qHaH

D. HEICEI®R 3R YIS faHFT gR1 Geed A &1 §ig
E. ABHSa a1 SFHe

i T 71T fadedl & ¥ TE1 IR &1 957 DI

1.AB,CDE
2ABDCE
3.B,C,DAE
4 C,D,ABE

Options :

22742756021. 1
22742756022. 2
22742756023. 3

22742756024. 4

Question Number : 132 Question Id : 22742714379 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following Tribunals in a chronological sequence of their inception in India.
A_Income Tax Appellate Tribunal (ITAT)

B. Competition Appellate Tribunal (COMPAT)

C. Central Administrative Tribunal (CAT)

D. National Green Tribunal (NGT)

Choose the correct answer from the options given below

1.A B CD
2ADB,C
3.AC,BD
4 ABDC

Options :

22742756025. 1
22742756026. 2
22742756027. 3
22742756028. 4

Question Number : 132 Question Id : 22742714379 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FofafEad fIaRU & YR H 396 URY & H1d HHIIR Fell |
A 3YEHR HUTE raHr (s &1 T )
B. wfareasf sfdieh =arfae o (3 ty i v )

C. P41 UTgHE gasI (89 T )
D. TP BT <ANEe (T Sft &)
-d feu ¢ famedl § § 921 IR &l 98- DIt

1.A,B,C,D
2ADB,C
3A,CBD
4 A B D,C

Options :

22742756025. 1
22742756026. 2
22742756027. 3

22742756028. 4

Question Number : 133 Question Id : 22742714380 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ldentify the correct sequence of Governance Process in a system.
A_ Resource mobilization

B. Goal Coherence

C. Decision making

D. Implementation

Choose the correct answer from the options given below

1.A,B,C,D
2B,CAD
3.C,ABD
4 D CAB



Options :

22742756029. 1
22742756030. 2
22742756031. 3
22742756032. 4

Question Number : 133 Question Id : 22742714380 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ot oumTel! o =MEH Ui dl & 981 $F ©f TedH %
A. T8 e

B. T&g T

C. Foig

D. g

T iy

-t fau U fadedi & I 981 SR &I 99 DIt

1.A B C

2B,CAD
3. C AB D
4 D CAB

Options :

22742756029. 1
22742756030. 2
22742756031. 3
22742756032. 4

Question Number : 134 Question Id : 22742714381 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following factors affects the reliability of Research instrument?
A. The wording Questions

B. The Respondent’'s Mood

C. The Nature of interaction

D. The Regression effect of an instrument

Choose the correct answer from the options given below

1. A, B and C only
2.B, Cand D only

3. Aand D only

4 A B, Cand D only

Options :

22742756033. 1
22742756034. 2
22742756035. 3
22742756036. 4

Question Number : 134 Question Id : 22742714381 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fofafad 5 9 o 4 dR® AR SUGI &1 fayT-ad) &1 gHIdd Hd 572
A Tl B Teaaci
B. STRamd &f AARUfd

C. 31 [T (E=1a=H) &I P

D. YD T Ui U4
-d feu ¢ famedl § § 921 IR &l 98- DIt

1. HadA B, 3R C
2 ®ddB, C, 3D
3. ®Had A, ARD

4 HAA, B, C, dRD

Options :

22742756033. 1
22742756034. 2
22742756035. 3
22742756036. 4

Question Number : 135 Question Id : 22742714382 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following steps for Coding Quantitative and Qualitative Data in Quantitative Studies in a Sequential order?
A Verifying the coded data

B. Coding the Data

C. Pre testing a code hook

D. Developing a code book

Choose the correct answer from the options given below

1ABCD
2ABDC
3.C,0D,B A
4D,CBA



Options :

22742756037. 1
22742756038. 2
22742756039. 3
22742756040. 4

Question Number : 135 Question Id : 22742714382 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AETE® S 5 ATES IR A Hids! & geag - & Hgad oo o] 9el H4 5 Tt

A Dedg Hdmg! Bl THIdy

B. dfHgl Bl Heag o

C. B¢ ki B Jd - Tg0

D. B¢ - Jia! B [T

A T T fadpedt # @ WE1 TR 1 99 Bl

1.AB,CD
2.ABDC
3.C,D,B,A
4 D,CBA

Options :

22742756037. 1
22742756038. 2
22742756039. 3
22742756040. 4

Question Number : 136 Question Id : 22742714383 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is [abelled as Asserfion (A) and other one [abelled as Reason (R).

Assertion A: Cooperation is a synthesis of diverse factors physical, biological, social and is contextual.

Reason R: Limitations o cooperation is due to physical. biological and social factors of the individual or a combination of actors in a situaion.
In the light of the above statements, choose the correct answer from the options given below

1. Both Aand R are frue and R s the correct explanation of A

2. Both Aand R are frue but R is NOT the correct explanation of A
3 Alstrue but R is false

4 Aisfalse but R is true

Options :

22742756041. 1
22742756042. 2
22742756043. 3
22742756044. 4

Question Number : 136 Question Id : 22742714383 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T & F U0 5: W A (Assertion A) o ¥ T e & 1 GOV 3% $RU (Reason R) & 1 H:

G A: TEUM Hifd® Sidd 4 THITvid o faldY PRI &1 W0 3 3R I¢ Wiefiian 2|

BRUR: FE4 R S it & Wi widd @ GHifeid BRa! iy o T 5 Re! & Haie & BRI ! &
TR B o 3T H el 74U 0 fadbedt o 4 W8l IR 1 99 oI

1. AYRRTA TU & IRR AT g el &

2 AARRGH ¥d 8, Ud R AT 8 TR Tl o
3 ATIE o R 3T 3

4 AYTA R Al RTT R

Options:
22742756041 1
22742756042. 2

22742756043. 3



22742756044. 4

Question Number : 137 Question Id : 22742714384 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).

Assertion (A) Ideally Departments in Secretariats should deal with & particular segment of interrelated activities

Reason (R) :Functional clarity and decentralization in Departments promote better coordination of policies and programmer.
In light of the above statements, choose the cormect answer from the options given below.

1 Both Aand R are true and R is the correct explanation of A

2 Both Aand R are true but R is NOT the correct explanation of A
3. Als true but R is false

4 Als false but R is true

Options :

22742756045. 1
22742756046. 2
22742756047. 3
22742756048. 4

Question Number : 137 Question Id : 22742714384 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



9 3 By U0 §: U AU (Assertion A) & F ¥ fafiad § fl OR1 3 R (Reason R) & ©Y H:
HHU A: HM6Y &0 ¥ Tidared o faurT @l Sfawfsfid fsamman & s 3R ¥ aragR & afgul

PR R: {4 § THHAiAS Wpdl d [qog o0 Jiad) d SReAl § 9ga) §A-a9 & Sae- oYl o
SRIT T & AT | A1 68 70 fieal 7 € 98 SR &1 95 Diie:

1 ASRR T 90§ SR R AT U5 e 5

2 AR RGHI U 8, Wid R AD U8l ol el &
3. AT TR G0 §

4 AT g 1R Td 8

Options :

22742756045, 1

22742756046, 2

22742756047. 3

22742756048. 4

Question Number : 138 Question Id : 22742714385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).
Assertion (A) : Public Polices are made by the politicians and implemented by Administrative officers.
Reason (R) : Public institution perform better when they are decentralized.

In light of the above statements, choose the most appropriate answer from the options given below .

1. Both Aand R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R Is false

4 Ais false but R is true

Options:
22742756049. 1
22742756050. 2

22742756051. 3



22742756052. 4

Question Number : 138 Question Id : 22742714385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
el & P U 0 B: U idH (Assertion A) & U H fifEd & ol GEYI S9& BRY (Reason R) & &Y &:

DY A T et TRt GRI ST ol & AR WaEe Afmiial gry raffad @ o &)

0%

HRU R Gavi-d ST fidf<d 89 | 399 UeaH oldt |

IR B o SHTcild |, i T 70 famed! # ¥ e 3ugdd IR &1 99 divt:

1. AAR RGHI 981 § SRR, AD Ugl o1l &

2. AR R & §g1 8, aifbT R, AT W8] oAre g &
3. AGgI g cifod R 5! el o

4 AR eI 8 dib R 98l &

Options :

22742756049. 1

22742756050. 2

22742756051. 3

22742756052. 4

Question Number : 139 Question Id : 22742714386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).

Assertion (A) : Civil Society organisations promote participative democratic practices.

Reason (R) : The salient feature of participative democracy Is the process of a large number of Voluntary agencies.
In light of the above statements, choose the most appropriate answer from the options given below .

1. Both Aand R are true and R is the correct explanation of A

2. Both Aand R are true but R is NOT the correct explanation of A
3. Aistrue but R is false

4 Alsfalse but R is true

Options :

22742756053. 1
22742756054. 2
22742756055. 3
22742756056. 4

Question Number : 139 Question Id : 22742714386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I &l B U T &: U e (Assertion A) & &0 1 i & dl GUR1 3% SRV (Reason R) & ¥ H:
DY A: el GTEe] S7e1 gR1 Gg Tl Tidbdid SaeR] &1 Serdl feg1 il 3
SR R: GeYFTl e B (A= & b 39 a5 e © Wads | Tai~ud! [GamH el 8
TR HYH & 3H1ciid §, 71 KT foded! § U Ted 3Uad IR &1 997 DIl

1. AMR RGHI 81 § 3R R, ADI gl el §

2 ASRREHITEIE, T R A DI Te) AR TE &

3 AT 3 AR WG TR

4 ATRI TR E BT R WEI 2

Options:

22742756053. 1

22742756054, 2

22742756055. 3



22742756056. 4

Question Number : 140 Question Id : 22742714387 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(Given below are two statements. one is labelled as Assertion (A) and other one labelled as Reason (R).
Assertion (A) :Dependent Variable is the object whose change is caused by another variable.

Reason (R) : A Change in the independent variable will cause change in the dependent Variable.

In light of the above statements, choose the correct answer from the options given below.

1. Both Aand R are true and R is the correct explanation of A

2 Both Aand R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4 Als false but R is true

Options :

22742756057. 1
22742756058. 2
22742756059. 3
22742756060. 4

Question Number : 140 Question Id : 22742714387 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



9 3 By U0 §: U AU (Assertion A) & F ¥ fafiad § fl OR1 3 R (Reason R) & ©Y H:
B A 3T TR T8 3% & [o19H B AT 9Ga1d 31 ORU Bl 30 R el ol

BRY R: WA IR H B a1 9607 130 9% H geard I D,

TR HYA & Sf1ciid § T U T faded] 7§ U8 SR &1 98 Sifoe:

1 AIRRTAITU R IR R AT O8 A &

2 AIRREAT GO Af TR AT o8 o T B
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4 AYTTE APTRIT R

Options :

22742756057. 1

22742756058, 2

227427560509. 3

22742756060. 4

Sub-Section Number : 2
Sub-Section Id : 227427563
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742714388 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



Read the given passage & answer the five question given below:
The distinctive features of Social Welfare Adminisiration are given below.

Social welfare Administration deals with social welfare agencies and helps them to achieve their objectives for the target groups for which they
are working. Itis specifically concemed with identification of social objectives, the formulation and implementation of proposed programmes o
achieve the laid down objectives.

From functional point of view, social welfare administration includes thre perspectives of socil problems: (i) restoration of impaired social
functioning (i) provision of resources social and individual, for more efiective social functioning; (ii) prevention of social dysfunction.

Despite variations in size, scope, structure and types of programmes, every agency has a governing board as an apex body for final decision-
making. The board is generally representad by the community it inends to serve.

Social welfare administration requires optimum utiiization of ts available resources together with active community participation, so that the
ultimate goal of programmes can be achieved properly.

Social welfare agencies have to allocate certain portion of their resources survival so hat the organization can continue to exist. But this should
not limit their capacity to achieve quantitative and qualitative growth.

Social welfare agencies generally function in a cooperative manner and ensure participation of all the members in administration of their
aciiviies.

There s & growing trend in these agencies to recruit professionally qualified manpower. it has helped in infroducing professional approach in
their functioning.

Sub questions

Question Number : 141 Question Id : 22742714389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not correct about the function of Social Welfare Administration?

1. Provision of resources

2. Restoring social order

3. Protection of social dysfunction

4 To enhance effectiveness of social functioning
Options :

22742756061. 1

22742756062. 2



22742756063. 3
22742756064. 4

Question Number : 142 Question Id : 22742714390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).
Assertion (A) :Social Welfare Administration needs optimum utilization of available resources.

Reason (R) :Limited resources are needed for effective working of social welfare agencies.

In light of the above statements, choose the correct answer from the options given below.

1. Both Aand R are true and R is the correct explanation of A

2. Both Aand R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4 Als false but R is frue

Options :

22742756065. 1
22742756066. 2
22742756067. 3
22742756068. 4

Question Number : 143 Question Id : 22742714391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are correct about Social welfare organization?

A_ It has a governing board for decision-making.

B. It functions in a cooperative manner

C. It represents the personal interests of the members of the governing board.
D. It adopts a non-participative community approach.

Choose the correct answer from the options given below:

1. Aand B only
2. B and C only
3. Aand D only
4 A B, Cand D only

Options :

22742756069. 1
22742756070. 2
22742756071. 3
22742756072. 4

Question Number : 144 Question Id : 22742714392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one Is labelled as Assertion (A) and other one labelled as Reason (R).
Assertion (A) ‘Social Welfare agencies recruit professionals to archive qualitative and quantitative growth.
Reason (R) :Professionals help in a achieving the objectives of Social Welfare programmes.

In light of the above statements, choose the correct answer from the options given below.

1. Both Aand R are true and R is the correct explanation of A

2. Both Aand R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4 Ais false but R is frue

Options :

22742756073. 1



22742756074. 2
22742756075. 3

22742756076. 4

Question Number : 145 Question Id : 22742714393 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following helps in fulfilment of Social Welfare goals?
A. Resources

B. Target groups

C. Community participation

D Social Dysfunction

Choose the correct answer from the options given below:

1. A, B,
2.B, C,
3. A C,
4 A B,

D

g e e L e

o

Options :

22742756077. 1
22742756078. 2
22742756079. 3

22742756080. 4

Question Id : 22742714388 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 22742714389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
YIS HedIvl U & &1 & Y99 H Hgfaiad # 9 @F 981 781 8?2

1. EG1YE! @1 UEyE

2 OETD AaRIT &l g8l

3. HEIS® HUS-EDAl Bl Sa0

4. GHITS® SRIGA & YHId diidl H gfg

Options :

22742756061. 1
22742756062, 2
22742756063. 3

22742756064. 4



Question Number : 142 Question Id : 22742714390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e & oY U T 8: W0 i (Assertion A) @ 0 & fifed & ol GOR1 9% RV (Reason R) & ¥ T

AT A A S TG & AU U5 a9 & b 98 SUas Gl @ HfidHad Juai &2
HRY R: FHI® el UG & JHIdt SRIG & fou Giid Gl @ Sa<uddl gl o
TR Y & A | A4 U0 fded 3 8t SR &1 957 Dot

1 AIRREHI TS IR R AT TE amen
2 AFRR TG0 R, AR AT I8 e T 2
3 AW g, A R &R §

4 AYGd &, A R 9d &

Options :

22742756065, 1

22742756066. 2

22742756067. 3

22742756068. 4

Question Number : 143 Question Id : 22742714391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742756069. 1
22742756070. 2
22742756071. 3
22742756072. 4

Question Number : 144 Question Id : 22742714392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

d & By U TTU E: U HHY (Assertion A) & &Y ¥ faiiad § ol TORI 39 SRV (Reason R) & &Y H:
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Options :

22742756073. 1

22742756074. 2



22742756075. 3
22742756076. 4

Question Number : 145 Question Id : 22742714393 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742756077. 1
22742756078. 2
22742756079. 3
22742756080. 4

Sub-Section Number : 3
Sub-Section Id : 227427564
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742714394 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Question Numbers : (146 to 150)

Question Label : Comprehension

Read the given Passage and answer the five question given below:

Deductive reasoning works from the more general to the more speciic. Sometimes this is informally called & top-down’ approach. We might
begin with thinking & theory about a topic of interest. We can narrow that down into more specific hypotheses that we can test. This can be
narrowed down further when we collect observations to address the hypotheses. This ultimately leads us to be able to test the hypotheses with
specific data a confirmation or rejection of our original theories.

Inductive reasoning works the other way, moving from spacific observations to broad generalization and theories. Informally, it is called bottom-
up' approach (please note itis bottom-up” and not "bottoms-up’). In Inductive reasoning, we begin with specific observations and measures,
begin to defect patterns and regularities, formulate some tentative hypotheses that can be explored, and finally end up developing some general
conclusions or theories

Inductive reasoning, by its very nalure, 1s open-ended and exploratory, especially at the beginning. Deductive reasoning is more narrow in nafure
and Is concernad with testing or confirming hypathesas. Even through a particular study may look like it is purely deductive (e. an experiment
designed to fest the hypothesized effects of some treatment on some outcome), most social research involves both inductive and deductive
18as0ning processes at sometme n the research project

Sub questions

Question Number : 146 Question Id : 22742714395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a correct statement?

1. Deductive reasoning is top-down approach

2. Inductive reasoning moves from a general to specific observation
3. Observations help in formulating hypotheses

4. Specific data is required

Options :

22742756081. 1
22742756082. 2
22742756083. 3
22742756084. 4



Question Number : 147 Question Id : 22742714396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is true about inductive reasoning?
A. Specific to broader generalization

B. Helps in descriptive studies

C. Development of specific theories

D. Detects patterns and regularities

Choose the correct answer from the options given below:

1. A, Band C only
2.B, CandD only
3. Aand D only
4. B and C only

Options:

22742756085. 1
22742756086. 2
22742756087. 3

22742756088. 4

Question Number : 148 Question Id : 22742714397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).
Assertion (A) :Deductive reasoning helps to test specific hypotheses.

Reason (R) : Hypotheses testing can be done through simple observation.

In light of the above statements, choose the correct answer from the options given below.

1. Both Aand R are true and R is the correct explanation of A

2. Both Aand R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4 Als false but R is frue

Options :

22742756089. 1
22742756090. 2
22742756091. 3
22742756092. 4

Question Number : 149 Question Id : 22742714398 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ldentify the correct sequencing in Inductive reasoning.

A Formulation of tentative hypotheses.

B. Development of general theories.

C. Specific observations

D. Identification of patterns and regularities

Choose the correct answer from the options given below:

1.C,D,A B
2CABD
3.C B A D
4 C, D B A

Options :

22742756093. 1



22742756094. 2
22742756095. 3

22742756096. 4

Question Number : 150 Question Id : 22742714399 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements. one is labelled as Assertion (A) and other one labelled as Reason (R).
Assertion (A) :Both deductive and inductive reasoning are involved in social research.

Reason (R) : Inductive reasoning is only ancillary to deductive reasoning

In light of the above statements, choose the correct answer from the options given below.

1. Both Aand R are true and R is the correct explanation of A

2 Both Aand R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4 Ais false but R is true

Options :

22742756097. 1
22742756098. 2
22742756099. 3

22742756100. 4

Question Id : 22742714394 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 22742714395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742756081. 1
22742756082. 2
22742756083. 3

22742756084. 4

Question Number : 147 Question Id : 22742714396 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742756085. 1
22742756086. 2
22742756087. 3

22742756088. 4

Question Number : 148 Question Id : 22742714397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742756089. 1
22742756090. 2
22742756091. 3
22742756092. 4

Question Number : 149 Question Id : 22742714398 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
IS dd & 969 H 91 HH S UgdH B
A H{dH URS I BT IR BT

B g fagidl &1 faa™

C. fafR1y s

D. FA1 T Fraftaare &1 ugaH
-d feu ¢ famedl § § 921 IR &l 98- DIt

1.C,D,A B
2CABD
3.C B A D
4 C, D B A

Options :

22742756093. 1



22742756094. 2
22742756095. 3

22742756096. 4

Question Number : 150 Question Id : 22742714399 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

& T U T 8: 00 A (Assertion A) & 0 & fifed ol GOV 99® RV (Reason R) & T T

ARG A: G Y H RS 9UT SRS gHT ad g &

®RY R: D db, TS dob &1 S JH Bl B
IR B & AT 8 1 o 70 el & € 08 TR @ 9 PG

1. AR REH 90§ AR R A DI Tgl I &

2 AIRREHI T § AR AD U8l el T8 &
3 AU 3 Tl R 39T §

4 AT PRI |

Options :

22742756097. 1

22742756098, 2

22742756099. 3

22742756100. 4



